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Question Number : 1 Question Id : 54592744845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term in the following letter series.

CEF, HK, MP, RU,
Options:

1. v WZ
2. WX
3. = UX
4. = WV

Question Number : 1 Question Id : 54592744845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT Y |
CF, HK, MP, RU,

Options:

1. v WZ
2. = WX
3. = UX
4. = WV

Question Number : 2 Question Id : 54592744846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the wrong term in the following series:

QOP, SQR, UST, WUX, YWX

Options:

1. = SQR
2. % UST

3. v WUX
4. » YWX

Question Number : 2 Question Id : 54592744846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEd gEer A eld T8 AT -
QOP, SQR, UST, WUX, YWX

Options:

1. = SQR
2. = UST
3. v WUX
4. = YWX

Question Number : 3 Question Id : 54592744847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = Wheat
2. = Barley
3. = Oat

4. v Paddy



Question Number : 3 Question Id : 54592744847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT a7 [Oehedl A 8, did U Toiead dileh 8 AT &

&TollTeh, TUeh Tdehed 3T dlel T oi& oTol &1 39 [hed &

el he ST ST T 3TeldT &1

Options:

1. = 3

2. » St
3. % S2
4.

v Yled

Question Number : 4 Question Id : 54592744848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = Animal - Lion

2. v Flower - Seed

3. = Stationery - Pen
4. = Vegetable - Carrot

Question Number : 4 Question Id : 54592744848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foT a7 [Oefedl A &, did U+ Toead dileh 8 AT &

&Tollloh, Ueh Tdhed e dlel T dig olel &l 3T Aeq &

el L ST AT T 37T &1

Options:

1.&?@;-@?

2. v B - CIS|



3. % TN - Fold

4. = saAT - Mol

Question Number : 5 Question Id : 54592744849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

DMQ : IRV = JPW : ?
Options:

1. v OUB
2. » NVC
3. = MXA
4. = PVC

Question Number : 5 Question Id : 54592744849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [dhed T T 3 S Y U & 39T Yo 8 Jaad §
o 9™ & el Ug gE UG # He(Ad ¢

DMQ : IRV = JPW : 7

Options:

1. v OUB
2. = NVC
3. = MXA
4. = PVC

Question Number : 6 Question Id : 54592744850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third term on the same
bhasis as the second term is related to the first term.

Dog : Kennel :: Horse : ?

Options:

1. = Stallion
2. = Mare
3. = Colt

4. v Stable

Question Number : 6 Question Id : 54592744850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [dhed &7 I« R ST dIER Ug | 38T TohE & T@a7dd §
o 9} & Ygel U5 g U% H FEAd g

Hedl: FPearaw meET: ?

Options:

1. = ETorge
2. = ENET
3. = wedaT
4. v 3Eddel

Question Number : 7 Question Id : 54592744851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If HORSE is coded as JMTQG, then what 1s the code for LION?

Options:

1. * MHQL
2. v NGQL
3. * MHRL



4. » NGRK

Question Number : 7 Question Id : 54592744851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife HORSE & JMTQG & &7 H HIfsg Far Sar &, ar
LION ST hIg T &7

Options:

1. = MHQL
2. v NGQL
3. = MHRL
4. = NGRK

Question Number : 8 Question Id : 54592744852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Binita, Charlie, Diksha, Eshika and Firoz are sitting on a
bench. Charlie is between Diksha and Eshika, Firoz is to the
left of Diksha and Firoz is not at the end. Who is to the right
of Binita?

Options:

1. = Diksha
2. » Charlie
3. v Firoz

4. = Eshika

Question Number : 8 Question Id : 54592744852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i, arelf, <ia, e 3R RIS T 39 9T §& &1 dTell
ZretT MY iR & g &, RS, ST & 9w A & 3
RS B W F8T & Toeiar & rfgar aih e &7

Options:

1. = SI&T




2. % grell
3. v TRO=T
4. = ZTRrehT

Question Number : 9 Question Id : 54592744853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kavita said to Lalita, "You are my husband’s father-in-law’s
daughter’s son-in-law’s daughter.” How is Lalita related to
Kavita, if Kavita has no sibling’s?

Options:

1. v Lalita is the granddaughter of Kavita
2. » Lalita is the daughter of Kavita

3. » Lalita is the grandmother of Kavita
4. = Lalita is the mother of Kavita

Question Number : 9 Question Id : 54592744853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & Afeldl & Fal, "qH W afd & TFI HT 9T F AR
T Fer gI1" dAferdr, Fiadr & =8 gafaa §, I Fiadr F1 F
HIS gl oTal &7

Options:

1. v ofoldT SadT hl T/ &
2. = ferar, Siaar T 387 §

3. % SATldl ShIddT hT G/l &
4. % Wl HiddT Hr AT §

Question Number : 10 Question Id : 54592744854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




A statement is given, followed by several assumptions. Read
the statement carefully and decide which of the assumptions
are implicit in the statement.

Statement : " Conveyance by raillways is more convenient and
economical in India than travelling by planes”

Assumptions :

I. India is an expensive country and has a very high standard
of living,.

I1. Raillway services are cheaper in india.

Options:

1. = Only I is implicit.

2. v Only II is implicit.

3. = Both I and II is implicit.

4. = Nelther I nor II is implicit.

Question Number : 10 Question Id : 54592744854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk heye AT ST &, 3TF §1E s IRV & ST &1 39
FUT FT AAYa U¢ N 0T of T el H hle &7 gRom

fafga &

Fel: "W A [AATAT S@RT AT Hel T Jelell A Jold @RI
3R Fraarsiaw AT fRradr §1"

Sieauies
. TR Uk AT 2o & 3T J&T Sgd TR B =T B

I, 9T & I |a0 TEAT &

1. %aa—cmrl‘r-;ﬁ%?r%ﬂ
2. v Fad |l 3T &

3. = | 3T Il St fafga &
4. = 7 dr | 3T 7 ar |l =T gl

Question Number : 11 Question Id : 54592744855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question two statements are given, followed by three
conclusions, I, IT and III. You have to consider the statements
to be true even if it seems to be at variance from commonly
known facts. You have to decide which of the given
conclusions, if any, follows from the given statements.

Statement 1 : All cars are buses.
Statement 2 : No bikes are buses.

Conclusion I : All buses are cars.
Conclusion II : Some bikes are cars.
Conclusion III : No cars are bikes.

Options:

1. = Only conclusion II follows
2. v Only conclusion III follows
3. » Only conclusion I and III follows
4. = Only conclusion II and III follows

Question Number : 11 Question Id : 54592744855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=g e H A Fud v av &, 39+ s i oy |, 1l 3w
Il 2T &1 3Tl o FUAT hl oI HATToT &, Hol &I d FHTT
T T AT d2A7 @ ffear vdia & @ &l 3o I8 oot
FLAT R fF o a1 fasest § & &l ar foswy, I F5
8l, U 3w sherel T 3feTaeorT AT &

Faed 1: g7 FR &9 g
FUT 2: 5 AT TS FT Al &l

fashy |; §T §8 1 &I
fosehy |l FO 5 FN &
farsemd |1l: 1 off F a2 76T &

Options:

1. = ohdol TSRy | HTEOT Tl Y

2. v hael Tashy || 3AELOT ] &
3. = ohael fesahy | 3T Il 3eELOT HIA &

4. = Fael fesh¥ |l 3 I fFaEToT FT &

Question Number : 12 Question Id : 54592744856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

0.2:5:04:7
Options:

1. %4
2.v 2.5



3. % 25
4 %14

Question Number : 12 Question Id : 54592744856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 Thed T IS HL S dER U & 39T YR & 979d &
o 9 & gall Ug g UT & FEAd &
02:5:04:7%

Options:

1. = 4
2. v 2.5
3. = 25
4. = 14

Question Number : 13 Question Id : 54592744857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

16, 49, 148, 445,

Options:

1.+ 1336
2. % 1335
3.= 1215
4. % 1225

Question Number : 13 Question Id : 54592744857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foaaTfalae d&ar g&er # o HEAT AT |
16, 49, 148, 445,

Options:




1. v 1336
2. = 1335
3. = 1215
4. = 1225

Question Number : 14 Question Id : 54592744858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Venn diagrams best represents the
relationship between red things, flowers and roses?

Options:

l.Jl@l
5. (&

Question Number : 14 Question Id : 54592744858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d & @ Sl A1 a7 NG el <rSll, Foll AT Iarst
o AT o FT hl o TSI c20TdT §7

Options:

1. v l@)




Question Number : 15 Question Id : 54592744859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A girl starts from her house to visit various places. She walks
13 km east, then turns north and walks 11 km, then turns
west and walks 7 km, then turns south and walks 6 km, then
turns to her right and walks 6 km. Where is she now with
reference to her starting position?

Options:

1. = 5 km south
2. #» 16 km north
3. = 16 km south
4. v 5 km north

Question Number : 15 Question Id : 54592744859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk e5ehT 36l B0 A faffiest Tl W S & forv faererdr &
IE qd 1 3R 13 km Terdr &, T 3T T 3T Fear & 37
11 km et &, T afema & 3 f@sdr & 3 7 km e

&, Tt EfaToT T 3T F3aT & 3R T 6 km Terd &, T 2w
3 FSAT § 3 6 km TeIdT g1 3T T§ =T TREAF i

¥ west # Far &7

1. = 5 km Ei&or
2. = 16 km 3ca¥

3. = 16 km gr&or
4. v 5 km 3cd¥

Question Number : 16 Question Id : 54592744860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two men Ankit and Navin start from the same point. Ankit
walks 10 km north, then turns east and walks 5 km, then
turns to his left and walks 6 km. Navin walks 8 km east, then
turns north and walks 15 km, then turns to his left and walks
3 km. Where 1s Navin standing now with respect to the
current position of Ankit?

Options:

1. v 1 km south
2. » 1 kKm north
3. = 8 km east
4. % 8 Kim west

Question Number : 16 Question Id : 54592744860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ar 3T 3Rt 3T ofdlel Ueh &1 foig & TR i ¥ 3ifehd
3cdT T 3T 10 km Tedr &, TR g3 =1 3T 3T & 3 5
kmﬂﬂﬁT%‘,ﬁWHﬁFﬂ'WaﬂTﬂgﬁT%ﬁTBKmﬂﬂﬁT%‘l
odlel 99 A 8 km TeIaT &, T ey T 3 J3a1 & AT 15
kmﬂﬂﬁT%‘,ﬁﬂaﬂ?ﬂ'WaﬂTﬂgﬁT%‘ﬁTSKmﬂﬂﬁT%‘l
Mfra T TadATe BUTd & TFT H Taled & gl T8 57

Options:

1. v 1 km Zf&or
2. % 1 km 3ca¥
3. = 8 km qd

4. = 8 km UfeTH

Question Number : 17 Question Id : 54592744861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

—_—h
—_—
—F
e
—_—
—_—

1. v

—
—p
—_—h
—_—
——
—
—_—

i




[

Question Number : 17 Question Id : 54592744861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT 30 aehedr & &, did T Toead dileh & AT &l

gTaliter, Uk fahed 3708 Aol T g 87 &1 39 Theq &
el hd ST AT T 37Tl &1

Options:
_
—
>

1. v I=—
-
—_
—
A—

2. % [—

[

[

Question Number : 18 Question Id : 54592744862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following answer figure completes the series of
the question figure?

e AO |
X + L o
40| & f

VS
3.
O

Options:

1.« B@&

Question Number : 18 Question Id : 54592744862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafolad A & Sid AT 3cdT 3THid WeeT 3TFc T e i

T AT 57

V&l @ A0

. X + =
O <10 |% i
Options:

]
X

1. « > @&




Question Number : 19 Question Id : 54592744863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given answer figures, select the one in which the
question figure is hidden/embedded.

Options:




Question Number : 19 Question Id : 54592744863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& % 3ca MBI # &, 39 U T IT H [OGH weel
3pfar g &

Options:

1. =

Question Number : 20 Question Id : 54592744864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A piece of paper is folded and punched as shown below in the
question figures. From the given answer figures, indicate how
it will appear when opened.

Options:

1< g

o [ e |

RN

3.

AN
S

4 %

Question Number : 20 Question Id : 54592744864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teel IMFIT A AT TET a4 gHhs T AR 3HH
3 U a0 &1 & 9% 3 3ot &, P9 Y 6 8 Fet

Options:



Q@

N7
ZIN
2- % =
==
I
3. v =0
>
N
S
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Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 5459272666
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592744865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Margamkali is purely performed by women communities of

Options:

1. = Karnataka

2. v Kerala

3. % Assam

4. » Maharashtra

Question Number : 21 Question Id : 54592744865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AGTHFT faerg ®7 8 hr Afgem THEEET S@rT
fepam ST &

Options:

1. = hallceh
2. v &l
3. = 3I8H
4. » FERTZ

Question Number : 22 Question Id : 54592744866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hemis is a religious festival of

Options:

1. v Ladakh
2. » Nagaland
3. = Sikkim




4. = Meghalaya

Question Number : 22 Question Id : 54592744866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T UF oIfHe BN &

Options:

1. v oler

2. = ATMelS
3. = Tafesa
4. = AT

Question Number : 23 Question Id : 54592744867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The bank formed by the efforts of Lala Lajpat Ral 1S

Options:

1. = Central Bank of India
2. » Canara Bank
3. v Punjab National Bank
4. = Bank of India

Question Number : 23 Question Id : 54592744867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el oToTad T o ST & Ifod d gl

Options:
1p. » ool dah HH 84T
2. ® Shelll Sieh

3. v Ul aAeTedel dh

4. » & 3 TEaT

Question Number : 24 Question Id : 54592744868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Gross Domestic Product + Net Factor Income from Abroad =

Options:

1. » National Income

2. » Net Domestic Product
3. = Net National Product
4. v Gross National Product

Question Number : 24 Question Id : 54592744868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hehol B[ 3c9Tg + Tader & Tolgel SN 39 =

Options:

1. = T AT

2. » folgel Gel T 3c9Tg
3. » Togel TS 3cUTg
4. v Hehol TSI 3cUTg

Question Number : 25 Question Id : 54592744869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Most meteors burn up in the layer of atmosphere.

Options:

1. v Mesosphere

2. * Thermosphere
3. » EXosphere
4. = Ionosphere

Question Number : 25 Question Id : 54592744869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTARIT SehU TRIASA HT Wd H ol Sdr &l

Options:

1. v ACIHS




2. ® ATIHS

3. ® SEIHSA

4. % TATHS

Question Number : 26 Question Id : 54592744870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s also called as Marsh gas.

Options:

1. = Hydrogen Sulphide
2. » Hellum

3. = Radon

4. v Methane

Question Number : 26 Question Id : 54592744870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fr AT I o7 w1 AT F

Options:

1. = gIS3lold AeWhlss
2. = TgTeH

3. = 3Eid

4. v AT

Question Number : 27 Question Id : 54592744871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Night blindness is also known as

Options:

1. * Hypermetropia

2. v Nyctalopia
3. » Myopia
4. = Alopecia



Question Number : 27 Question Id : 54592744871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Iaredr &r & dATH & T FAT FATAT &

Options:

1. = SIEEme

N [T

2. ¢ oATdFCell Il
3. = HATIIOAT
4. = TeAfeRT

Question Number : 28 Question Id : 54592744872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following rivers is also known as Dihang river?

Options:

1. v Brahmaputra
2. = Indus

3. » Mahanadi

4. » Ganga

Question Number : 28 Question Id : 54592744872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafa@a & O Trg Far &1 g a7 & &7 O o7 JTer
ST 87

Options:

1-“‘*’*”@?
2. = Ty
3. » H@TAr
4. = I

Question Number : 29 Question Id : 54592744873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



75% of the world's active volcanoes are located in the

Ocean basin.

Options:

1. = Arctic
2. » Atlantic
3. = Indian
4. v Pacific

Question Number : 29 Question Id : 54592744873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl & 75% Tlha SaTemaz ASNREN & a8
7 e g

1. % Scdlgadrg

4. v Yelled

Question Number : 30 Question Id : 54592744874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearing of fish is known as

Options:

1. v Pisciculture

2. * Pomiculture
3. = Sericulture
4. = Viticulture

Question Number : 30 Question Id : 54592744874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HDoll o UTelel hT F dTH O SATaT ST &

Options:




%

1. ¢

| i

* QAP e

A
x

3. = TIehe
4. = GTETTRy

Question Number : 31 Question Id : 54592744875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In 1924, Hindustan Republican Association was formed at

Options:

1. = Delhi

2. v Kanpur
3. = Banaras
4. » Kolkata

Question Number : 31 Question Id : 54592744875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1924 #, fggrdre Rufeeshe THIHTRIET FT IS

== il ooy I

Options:

1. = f&eelr
2.J$I?I'FIDT
3. * FIRH

4. % RrelhTdl

Question Number : 32 Question Id : 54592744876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ravikirti was the poet in the court of

Options:

1. v Pulakeshin II




2. » Harshavardhana
3. » Chandra gupta II
4. = Kanishka

Question Number : 32 Question Id : 54592744876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NECAIE] % @R H Hid |

Options:

1. v TorRfRIeT |
2. = gYade
3.« egared |l
4. » Fforsh

Question Number : 33 Question Id : 54592744877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The age was also called Stone-Copper Age.

Options:

1. = Neolithic

2. v Chalcolithic
3. = Mesolithic
4. » Palaeolithic

Question Number : 33 Question Id : 54592744877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g I UTSTOT-TH a1 & T ST AT

Options:

1. = oTQUTHTOT
2. v JdTHYTYIOT
3. » HEJUTNTOT
4. = TIUTTOT



Question Number : 34 Question Id : 54592744878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the author of Getting India Back on Track?

Options:

1. v Ratan Tata

2. = Natwar Singh
3. » Vinod Ral

4. = Amish Tripathi

Question Number : 34 Question Id : 54592744878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Mfear 3AT §oF 3TeT ¢oh o ol@eh hidd &7

Options:
1. v Tdel TICI
2. = dcal g

3. » e T
4. = 3TATRT TS

Question Number : 35 Question Id : 54592744879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won the best actor award in Filmfare 2019?

Options:

1. = Ayushman Khurrana
2. = Vicky Kaushal
3. v Ranbir Kapoor
4. = Shahid Kapoor

Question Number : 35 Question Id : 54592744879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TheAhIY 2019 A J9Ats THAAT I TIEhI orge SaT?

Options:




% forerehT shterer
v JOER FYT
marﬁaw

Question Number : 36 Question Id : 54592744880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OECD stands for

Options:

1. = Organisation for Economic Cordination & Development

ol

2. = Organisation for Economic Challenges & Development
3. = Organisation for Economic Challenges & Distance
4. v Organisation for Economic Cooperation & Development

Question Number : 36 Question Id : 54592744880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OECD #hr quT yux gl
Options:
1. = 3TIATSoI2la HIY Sehiall[Heh hI3Taa1eld TS STlUHC

2. = 3TfeITgolelel B SRl He Uolol US STAUHC
3. % 3RS B ShidiHe delol TS 3€cd
4. v 3ol B ShiadlHeh RITRLT U5 3TaTHC

Question Number : 37 Question Id : 54592744881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following amendment increased the duration of
Lok Sabha from 5 years to 6 years in case of an emergency?

Options:

1. v 42nd
2. = 40th




3. = 41st
4. = 43rd

Question Number : 37 Question Id : 54592744881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

rafe@a & O forg genygd o 3TUTdehler =T Tufa &
SRTHAT T I 5 ¥ T FEhT 6 ¥ FT a7

Options:

1. v 428
2. = 403
3. = 413
4, = 433

Question Number : 38 Question Id : 54592744882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Article 23 deals with

Options:

1. ¥ Right against Exploitation

2. = Cultural and Educational Rights
3. = Right to Freedom

4. = Right to Freedom of Religion

Question Number : 38 Question Id : 54592744882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3eTese 23 o g@etad &

Options:

1. v eNNOT & T&eTH TSR

2. = GrEpfdeh 3N Af&+ 3T
3. * T@AAAT FT JTFR

4, = gH T TIIAAT T HTARR




Question Number : 39 Question Id : 54592744883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Merdeka Cup is associated with which of the following sports?

Options:

1. = Golf

2. » Badminton
3. v Football

4. = Table Tennis

Question Number : 39 Question Id : 54592744883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ASHT YT fardfel@d & @ forg BT @ gefad 87

Options:

1. = 3o
2. = dsTHcA
3.&*@3{
4. = ool e

Question Number : 40 Question Id : 54592744884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bajrang Punia won the National Sports award in 2019 for his
contribution in the field of

Options:

1. v wrestling
2. = football
3. » hockey

4. = polo

Question Number : 40 Question Id : 54592744884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Soiddr qierar o 2019 A

F 87 H 3 AIgreT

% forv TS del ERR ST

Options:

1.«*?&’?%

ol

. * Ihcdlel

2 )
3. = gl
4. » dre

Arithmetic Ability
Group Number : 3
Group Id : 5459272223
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability
Section Id : 5459272223
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section I d: 5459272667
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592744885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Simplify: 30-[24-{48 + 6-42 + 7}]
Options:

1. = 32
2.v 8
3. % 29
4. % 10

Question Number : 41 Question Id : 54592744885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Tlel w30 - [24 - {48 + 6 - 42 + 7}

Options:

1. = 32
2. v 8
3. % 29
4. = 10

Question Number : 42 Question Id : 54592744886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the LCM and HCF of 4, 24, 36, 44

Options:

1. = LCM = 649, HCF = 2
2. LCM = 586, HCF = 8
3.v LCM =792, HCF =4
4. %« LCM =832, HCF = 6

Question Number : 42 Question Id : 54592744886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4, 24, 36, 44 & TEHcAH AT 3T AgcdA FIATGAS AT
Corgl

Options:

1. » ofgcdd TATIAAHR = 649, HEcdH FATIGdS = 2




2. » SEHcAH HATAdw = 586, AGcaH WHTIGAH = 8

3. v SEcdH HAMYAAH = 792, AgcdH HATIAAF = 4

4. » SEcAH HAMAdR = 852, AGcdH WHTIAAS = 6

Question Number : 43 Question Id : 54592744887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify: {(x/12) + (x/24)} + (x/12)

Options:

1. v 3/2
2. % 2{3
3. % 12/5
4. = 524

Question Number : 43 Question Id : 54592744887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T FL {(12) + (/24)} + (/12)

Options:

1. v 3/2
2. % 2{3
3. = 12/5
4. = 524

Question Number : 44 Question Id : 54592744888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When (a/b) = (5/3) find {(a/b) - (b/a)} + {(a/b) + (b/a)}

Options:

1. = 17/8
2. % 7/18
3. v 8/17
4. = 18/7



Question Number : 44 Question Id : 54592744888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST (a/b) = (5/3) ar {(a/b) - (bla)} + {(alb) + (bla)} AT HY|

Options:

1. = 1718
2. % /18
3. v 817
4. = 1817

Question Number : 45 Question Id : 54592744889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Divide Rs 17824.75 equally among 185 women. How much
does each woman get?

Options:

1. = Rs. 99.50
2.v Rs 96.35
3. = Rs. 97.53
4. » Rs. 94.64

Question Number : 45 Question Id : 54592744889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

17824.75 ®9C 185 ARG & TATH AT T d¢| Ucdah HAfgell
I fohddal 390 e &7

Options:

1. = 99.50 3UU
2. v 96.35 ¥UU¢
3. = 9/.53 ®4UU¢
4. = 94.64 ¥UU

Question Number : 46 Question Id : 54592744890 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Find the sale price of a ceiling fan that has a list price of Rs.
900 and a discount rate of 10%.

Options:

1. » Rs. 720
2. % Rs. 910
3. = Rs. 890
4. v Rs. 810

Question Number : 46 Question Id : 54592744890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TifeldT & 9 T Toshl Ao AT FY, TG T Ao 900
U0 § 3 BT HT X 10% B

Options:

1. = 720 4T
2. = 910 T
3. = 890 zuv
4. v 810 ¥q0

Question Number : 47 Question Id : 54592744891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an election, two candidates received 470 and 962 votes
respectively. What percentage of the total votes did the
winning candidate get?

Options:

1. = 76.71%
2. v 67.17%
3. = 76.17%
4. % 67.71%

Question Number : 47 Question Id : 54592744891 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Ush IATd H, & SFACART FT kA 470 3R 962 dle A
Gﬁﬁﬁmﬁmﬂ'aﬁ;’ﬁﬂﬁw ELGIRIGHG R

Options:

1. = 76.71%
2. v 67.17%
3. = /6.17%
4. = 67.71%

Question Number : 48 Question Id : 54592744892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The difference between a number and its three fourth is 840.
What is 30% of that number?

Options:

1. = 1800
2. v 1008
3. = 1080
4. % 1018

Question Number : 48 Question Id : 54592744892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh TEAT 3T 39 diel IS o & T 3T 840 g1 39
T&AT FT 30% TohdaT &7

Options:

1. = 1800
2. v 1008
3. = 1080
4. = 1018

Question Number : 49 Question Id : 54592744893 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Ajay sold a fan for Rs. 1404. Find the cost ptice if he incurred
a loss of 22 %.

Options:

1. » Rs. 1680
2. % Rs. 1750
3. v Rs. 1800
4. = Rs. 1880

Question Number : 49 Question Id : 54592744893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST of Uh U I 1404 39T H ST I STH 38 22% hr
gifel g5 & e Hear ekt &

Options:

1. = 1680 TUU¢
2. = 1750 34w
3. v 1800 z4w
4. = 1880 »4Uvw

Question Number : 50 Question Id : 54592744894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pencils, pens and exercise books in a shop are in the ratio
12:7:3. If there are 252 pencils, the number of exercise books
in the shop Is

Options:

1. = 36
2.v 63
3. % 82
4, % 28

Question Number : 50 Question Id : 54592744894 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Uk gehTel A UfHel, held 3R ARTH TEd+ 12:7:3 & 3T
A g I 252 affrer &, Y Tl H SARITH TEdehl T T&dm
foRcTeir &7

Options:

1. = 36
2. v 63
3. = 82
4. = 28

Question Number : 51 Question Id : 54592744895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of the angles of a triangle is 4 : 5 : 6. The three
angles of a quadrilateral is equal to three angles of this
triangle. What is the sum of the largest angle and second
smallest angle of the quadrilateral?

Options:

1. = 225 degree
2. = 228 degree
3. % 232 degree
4. v 240 degree

Question Number : 51 Question Id : 54592744895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk AT & RIUM T AT 4: 5: 6. &1 U TgHT & dledf
HIT 3 ST & it HIOT F W &1 TP F T T3
SI0T 3 GEY & BIC HI0T T T AT &7

Options:

1. = 225 T34l




2. = 228 39
3. = 232 T4
4. v 240 T3afr

Question Number : 52 Question Id : 54592744896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between the simple interest and compound
interest on Rs. 66,000 for one year at 12% per annum
reckoned half yearly is

Options:

1. v Rs. 237.6
2. Rs432.1
3. = Rs. 842.9
4. % Rs. 2314

Question Number : 52 Question Id : 54592744896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIYNOT AT 3 Thgie TSl o S T 3 12% vid Iy
$T 2T T 66,000 FUT TH ¥ & &IT &, Ghr 3dar¥+ &
|

Options:
1. v 237.6 34U
2. % 432,71 ®UC¢
3. * 842.9 UV
4. = 231.4 ®UC¢

Question Number : 53 Question Id : 54592744897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Two motor bikes cover the same distance at the speed of 80
and 85 kmph respectively. Find the distance travelled by
them if the slower bike takes 1 hour more than the faster
bike?

Options:

1. = 980 km

2. = 1150 km
3. % 1240 km
4. v 1360 km

Question Number : 53 Question Id : 54592744897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar AT FT5h e 80 IR 85 kmph Hr afd & F& gIr I
FLAT &1 3eTeh GART T T 7S T AT L Il dTAT a15eh
ST STgeh T Jelell & 1 € 377 FAT ofdr g7

Options:

1. = 880 km
2. = 1180 km
3. ® 1240 km
4. v 1360 km

Question Number : 54 Question Id : 54592744898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

You drive to the store at 40 kmph and return by the same
route at 60 kmph. Discounting the time spent at the store
what was your average speed?

Options:

1. = 25 kmph
2. = 60 kmph
3. * 36 kmph



4. v 48 kmph

Question Number : 54 Question Id : 54592744898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 40 kmph T a1fd & 3137 FT gl W A & 3 60
kmph #T 27 @ 381 ARt @ g oled 81 ghe & f9ae a8y
HT AT U ATl HEdT IAfT Far 4

Options:

1. = 25 kmph
2. » 60 kmph
3. » 36 kmph
4, v 48 kmph

Question Number : 55 Question Id : 54592744899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do a piece of work in 10 days, and B can do the same
work in 20 days. With the help of C, they finished the work in
4 days. C can do the work in how many days, working alone?

Options:

1. = 5 days
2. = 7 days
3. = 8 days
4. v 10 days

Question Number : 55 Question Id : 54592744899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 10 &t H Uk FTH T TohaT &, 3T B 38T F1H & 20
f&all # ST Fehal §1 C T A &, 3ogio 4 faall & 1A [0
AT feaml C e Tohdel Gal & TH T bl &7

Options:




x 5 feaT
x 7 feat
8 fear
v 10 feat

Question Number : 56 Question Id : 54592744900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The surface area of the cube is 684 sq cm. Its diagonal is how
much?

Options:

1. % 5.19 cm
2. % 8,66 cm
3. % 13.86 cm
4. v 1849 cm

ol
#®

Question Number : 56 Question Id : 54592744900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl T Al &9%el 684 sq cm &l ST R0l fehdaT §7

Options:

1. = 5,19 cm
2. » 866 cm
3. * 13.86 cm
4. v 18.49 cm

Question Number : 57 Question Id : 54592744901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Two solid spheres of radii 5 cm and 7 cm are melted and
recast into a cone of height 13 ¢cm. Find the radius of the cone
so formed.

Options:



1. = 17 cm
2. % 19 cm
3.+ 11 cm
4, v 12 cm

Question Number : 57 Question Id : 54592744901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bsar 5 cm 3T 7 cm & & & el [UEene o § 30T 13
cmﬁﬁﬁ#%@ﬁﬁﬁﬁﬁ%lﬁ%@éﬁrﬁcm AT
cy

Options:

1. = 17 cm
2. % 19 cm
3. = 11 cm
4. v 12 cm

Question Number : 58 Question Id : 54592744902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following table shows number of items sold by three
persons Ram, Shyam, Shivam on 4 days of the week. Number
of items sold by Shivam on Sunday is what percent of number
of items sold by Shyam on Tuesday?

Ram Shyam | Shivam

Saturday a5 30 15
Sunday 30 45 38
Manday 15 10 5
Tuesday 25 35 32
Options:

1. v 108.6%

2. % 118.6%

3. % 128.6%



4. % 138.6%

Question Number : 58 Question Id : 54592744902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFafa@a aifersrr acdg & 4 et § die gieat A,
oATH, RIgA @Ry o7 1% ae3 T FEar Hr T &1 dear
T forgd 2@y S=iT 15 TE3T T AT HITAN FT ATH
CaRT o a8 gEt T fohcterr ufderd &2

i) T firam
wiae L] £ 15
EiCCind 20 as 8
#aR 18 T 5
HIEER 23 1 12

Options:

1. v 108.6%
2. = 118.6%
3. = 128.6%
4. = 138.6%

Question Number : 59 Question Id : 54592744903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following Pie-chart shows the distribution of expenses (in
degrees) of a family during 2019 Total Income of the family in
2019 is Rs. 1080.

Clothes

500 Rent
Having
30° 20°

an® a0*°
E thacation, 40°

Food

Tratsport

How much they spend (in Rs.) on clothes?

Options:

1.+ 150
2. % 200
3. = 180
4. % 240

Question Number : 59 Question Id : 54592744903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SR few ae gRE Te # a¥ 2019 & e v TRER % =9
T Tgaxor (f3air. #) =& cemar =37 &1 ay 2019 # gRaN r
Fel 3T 1080 T g

Gard
e
50
L pnl - o0
an= a0”
40° AT
o
ofimET

FUsT 9T TRAT =T TR AT hi?

Options:
1. v 150
2. = 200

3. = 180
4. = 240

Question Number : 60 Question Id : 54592744904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A school carried out an experiment to measure the lengths of
its classrooms. The results of the experiment are shown in the
histogram. The length of each classroom was measured to the
nearest meter. How many classrooms were less than 20
meters in length?

Options:

1. %5
2. %9
3. =10
4. +11

Question Number : 60 Question Id : 54592744904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh [AEITeRT & 39T HaTT3l =l edle Aa o folv Ueh u=iler
ToRaT| T=eT o IRONH I H T2V T &1 Tcdeh H&T hl
IdTs ol Toaishedd HIEL deoh AT a7 ATl 20 Al § A dd%

b S e M

aTel Tordel R&T 47




Options:

1. = 5
2. = 9
3. = 10
4. v 11

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions;

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

General English

4
5459272224
0

0

No

No

0

20

No

Yes

0

0

General English

5459272224
1

Online
Mandatory
16

16

20

1
5459272668
Yes

Question Number : 61 Question Id : 54592744905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

(A) If T had been/ (B) hungry I will have/ (C) ate the burger./
(D) No error

Options:

1. = A
2.v B
3.=C
4, %D

Question Number : 61 Question Id : 54592744905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

(A) If | had been/ (B) hungry | will have/ (C) ate the
burger./ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 62 Question Id : 54592744906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

(A) It takes him/ (B) a hour to reach/ (C) the office./ (D) No
error

Options:

1. = A
2.v B
3.=C
4, %D

Question Number : 62 Question Id : 54592744906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

(A) It takes him/ (B) a hour to reach/ (C) the office./ (D)

No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 63 Question Id : 54592744907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully. Select the option 'no correction required’ if the
sentence 1s correct as given.

She (break of) with a little shudder.

Options:

1. = broke of

2. = breaking off

3. v broke off

4. * No Improvement

Question Number : 63 Question Id : 54592744907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction

required’ If the sentence Is correct as given.

She (break of) with a little shudder.

Options:

1. = broke of
2. = breaking off
3. v broke off

4. = No improvement

Question Number : 64 Question Id : 54592744908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully. Select the option 'no correction required’ if the
sentence 1s correct as given.

I was told that oil (is lightest) than water.

Options:

1. v is lighter

2. = 18 light

3. = are light

4. * No Improvement

Question Number : 64 Question Id : 54592744908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction

required’ If the sentence Is correct as given.

| was told that oil (is lightest) than water.

Options:

1. v I1s lighter
2. % 1s light
3. = are light

4. = No improvement

Question Number : 65 Question Id : 54592744909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word that fills in the blank
correctly and completes the sentence meaningfully.

It had been continuously for the past two days.

Options:

1. = snows

2. ¥ SNIOWINg

3. * was snowing
4, = 13 snowing

Question Number : 65 Question Id : 54592744909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word that fills in the blank

correctly and completes the sentence meaningfully.

It had been continuously for the past two days.

Options:

1. *= snows

2. ¥ snowing

3. * was showing
4. % 1S snowing

Question Number : 66 Question Id : 54592744910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word that fills in the blank
correctly and completes the sentence meaningfully.

On Sports Day, the field is with banners.

Options:

1. = full



2. = fill
3. » decorating
4. v decorated

Question Number : 66 Question Id : 54592744910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word that fills in the blank

correctly and completes the sentence meaningfully.

On Sports Day, the field I1s with banners.

Options:

1. = full
2. = fill
3. = decorating

4. v decorated

Question Number : 67 Question Id : 54592744911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and labelled
P, Q, R and S. Select the option that gives the correct sequence
in which these parts can be rearranged to form a meaningful
and grammatically correct sentence.

The United States and Germany
P: by embarking on the

(: from the Great Depression

R: capitalist economic reforms
S: suffered and recovered

Options:



1. * RSPQ
2. * QPRS
3. « PQRS
4. v SQPR

Question Number : 67 Question Id : 54592744911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and
labelled P, Q, R and S. Select the option that gives the
correct sequence in which these parts can be rearranged to

form a meaningful and grammatically correct sentence.

The United States and Germany
P: by embarking on the

Q: from the Great Depression
R: capitalist economic reforms

S: suffered and recovered

Options:

1. = RSPQ
2. = QPRS
3. = PQRS
4. v SQPR

Question Number : 68 Question Id : 54592744912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Some parts of a sentence have been jumbled up, and labelled
P, ), R and S. Select the option that gives the correct sequence
in which these parts can be rearranged to form a meaningful
and grammatically correct sentence.

Strategy management is

P: to succeed in a rapidly changing

(Q: several parameters affecting success
R: required for organizations

S: world where there are

Options:

1. = PQRS
2. v RPSQ
3. = QSPR
4. = SQPR

Question Number : 68 Question Id : 54592744912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and
labelled P, Q, R and S. Select the option that gives the
correct sequence in which these parts can be rearranged to

form a meaningful and grammatically correct sentence.

Strategy management is

P: to succeed In a rapidly changing

QJ: several parameters affecting success
R: required for organizations

S: world where there are



Options:

1. = PQRS
2. v RPSQ
3. = QSPR
4. » SQPR

Question Number : 69 Question Id : 54592744913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is opposite in meaning (ANTONYM) to
the word given below.

Numerous

Options:

1. = Annual
2. » Flexible
3. v Scarce

4. = Various

Question Number : 69 Question Id : 54592744913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is opposite iIn meaning (ANTONYM) to

the word given below.

Numerous

Options:

1. = Annual
2. = Flexible

3. ¢ Scarce



4. = Various

Question Number : 70 Question Id : 54592744914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is opposite in meaning (ANTONYM) to
the word given below.

Shrewd

Options:

1. v Stupid
2. = Crafty
3. = Lavish
4. = Tender

Question Number : 70 Question Id : 54592744914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that 1s opposite in meaning (ANTONYM) to

the word given below.

Shrewd

Options:

1. v Stupid

2. = Crafty
3. ® Lavish
4. = Tender

Question Number : 71 Question Id : 54592744915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



1. EXtravagance
2. EXtravaganza
3. Extravazance
4. EXtravagnce

Question Number : 71 Question Id : 54592744915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that 1s spelled correctly.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Extravagance
2. Extravaganza
3. Extravazance

4. Extravagnce

Question Number : 72 Question Id : 54592744916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. = Benevalonce
2. » Benevolance
3. v Benevolence
4. = Benavolence

Question Number : 72 Question Id : 54592744916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that Is spelled correctly.

Options:

1. = Benevalonce

2. % Benevolance



3. v Benevolence

4. = Benavolence

Question Number : 73 Question Id : 54592744917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

Let the cat out of the bag

Options:

1. v Give away a secret

2. = To spoil something

3. » Take only calculated risks

4. = Get two things done with a single action

Question Number : 73 Question Id : 54592744917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idiom or phrase given below.

Let the cat out of the bag

Options:

1. v Give away a secret

2. » To spoil something

3. » Take only calculated risks
4.

*» (et two things done with a single action

Question Number : 74 Question Id : 54592744918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that best expresses the meaning of the idiom
or phrase given below.

Rain on someone's parade

Options:

1. = To postpone a plan
2. = To save money for later
3. v To spoll something
4. = To put a project on hold

Question Number : 74 Question Id : 54592744918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idiom or phrase given below.

Rain on someone's parade

Options:

1. * To postpone a plan
2. = To save money for later
3. v To spoil something

4. = To put a project on hold

Question Number : 75 Question Id : 54592744919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ’ for the expressions
given below.

Fear of dogs

Options:

1. v Cynophobia



2. = Chronophobia
3. » Centrophobia
4. = Cacophobia

Question Number : 75 Question Id : 54592744919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions

given below.

Fear of dogs

Options:

1. v Cynophobia
2. » Chronophobia
3. = Centrophobia
4. = (Cacophobia

Sub-Section Number: 2
Sub-Section 1d: 5459272669
Question Shuffling Allowed : Yes

Question Id : 54592744920 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

QQuestion Label : Comprehension



Read the passage carefully and answer the following
questions based on this passage.

Sacred Games is an Indian web television thriller series based
on Vikram Chandra’s 2006 novel of the same name. The first
Netflix original series in India, it is directed by Vikramaditya
Motwane and Anurag Kashyap, who produced it under their
banner Phantom Films. The novel was adapted by Varun
Grover, Singh and Vasant Nath. Kelly Luegenbiehl, Erik
Barmack and Motwane served as the executive producers.
Sartaj Singh (Saif Ali Khan) is a troubled police officer in
Mumbail who receives a phone call from gangster Ganesh
Gaitonde (Nawazuddin Siddiqui), who tells him to save the
city within 25 days. The series chronicles the events that
follow. Other cast members include Radhika Apte, Girish
Kulkarni, Neeraj Kabi, Jeetendra Joshi, Rajshri Deshpande,
Karan Wahi, Aamir Bashir, Jatin Sarna, Elnaaz Norouzi,
Amey Wagh and Kubra Sait. The development of Sacred
Games started after Erik Barmack, the Vice-president of
Netflix contacted Motwane to create Indian content for the
platform in 2014. They opted to adapt Chandra’s novel in the
local Indian language, to which Motwane agreed. After the
script was completed, Motwane asked Kashyap to co-direct;
Motwane directed the sequences involving Singh while
Kashyap directed Gaitonde’s. Swapnil Sonawane was the
director of photography for Motwane; Sylvester Fonseca and
Aseem Bajaj filmed the scenes directed by Kashyap. Aarti
Bajaj was the editor and Alokananda Dasgupta composed the
background score.



Sub questions

Question Number : 76 Question Id : 54592744921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The novel 'Sacred Games' was written by

Options:

1. = Mukesh Bhatt

2. * Chetan Bhagat

3. » Vikramaditya Motwane
4. v Vikram Chandra

Question Number : 77 Question Id : 54592744922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the novel 'Sacred Games'?

Options:

1. = 2008
2. v 2006
3. = 2007
4. = 2010

Question Number : 78 Question Id : 54592744923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Within how many days does Ganesh Gaitonde asks Sarta]
Singh to save the city of Mumbai?

Options:

1. = 21 days
2. = 23 days
3. v 25 days
4, = 27 days

Question Number : 79 Question Id : 54592744924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the vice president of Netflix in 20147

Options:



1. v Erik Barmack
2. = Kubra Sait

3. = James Balmer
4. = Radhika Apte

Question Number : 80 Question Id : 54592744925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the editor while producing 'Sacred Games'?

Options:

1. v Aarti Bajaj

2. = Erik Barmack

3. = Swapnil Sonawane
4. = Aseem Baja]

Question Id : 54592744920 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

Question Label : Comprehension



Read the passage carefully and answer the following

questions based on this passage.

Sacred Games is an Indian web television thriller series
based on Vikram Chandra's 2006 novel of the same name.
The first Netflix original series in India, i1t is directed

by Vikramaditya Motwane and Anurag Kashyap, who
produced it under their banner Phantom Films. The novel
was adapted by Varun Grover, Singh and Vasant Nath.
Kelly Luegenbiehl, Erik Barmack and Motwane served as
the executive producers. Sartaj Singh (Saif All Khan) is a
troubled police officer in Mumbal who receives a phone call
from gangster Ganesh Gaitonde (Nawazuddin Siddigui), who
tells him to save the city within 25 days. The series
chronicles the events that follow. Other cast members
include Radhika Apte, Girish Kulkarni, Neera] Kabi,
Jeetendra Joshi, Rajshri Deshpande, Karan Wahi, Aamir
Bashir, Jatin Sarna, Elnaaz Norouzi, Amey Wagh and Kubra
Sait. The development of Sacred Games started after Erik
Barmack, the Vice-president of Netflix contacted Motwane to
create Indian content for the platform in 2014. They opted
to adapt Chandra's novel in the local Indian language, to
which Motwane agreed. After the script was completed,
Motwane asked Kashyap to co-direct; Motwane directed the
sequences involving Singh while Kashyap directed
(GGaitonde's. Swapnil Sonawane was the director of
photography for Motwane; Sylvester Fonseca and Aseem
Baja) filmed the scenes directed by Kashyap. Aarti Bajaj
was the editor and Alokananda Dasgupta composed the

background score.



Sub questions

Question Number : 76 Question Id : 54592744921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The novel 'Sacred Games' was written by

Options:

1. = Mukesh Bhatt
2. » Chetan Bhagat

3. * Vikramaditya Motwane
4. v Vikram Chandra

Question Number : 77 Question Id : 54592744922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the novel 'Sacred Games'?

Options:

1. = 2008
2. v 2006
3. = 2007
4. = 2010

Question Number : 78 Question Id : 54592744923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Within how many days does Ganesh Gaitonde asks Sartg
Singh to save the city of Mumbal?

Options:

1. = 21 days
2. = 23 days
3. v 25 days
4. = 27 days



Question Number : 79 Question Id : 54592744924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the vice president of Netflix in 20147

Options:

1. v Ernk Barmack
2. * Kubra Sait

3. * James Balmer

4. = Radhika Apte

Question Number : 80 Question Id : 54592744925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the editor while producing 'Sacred Games'?

Options:

1. v Aarti Bajgj
2. = Enk Barmack
3. = Swapnil Sonawane

4. = Aseem Bajg
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Section Id : 5459272225

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272670
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592744926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgtetad v #, IR faweul & @, 39 [Tdher & o3 &2 ST 18U TT 98
Ter foede, Bt e o gt fremen 3t

AT +

Options:

1. = ITheT
2. % I
3. % dTdeT
4, v qUiId

Question Number : 81 Question Id : 54592744926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
St fow ot @er §fY A=ade fr GfY F1 9dr [Feq

arh + el

Options:

1. = dlehglel
2. = dlgle
3. % dldca



4. v TMICTA

Question Number : 82 Question Id : 54592744927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

FRTeTed U #, I” [Adeul § 9, 39 [dded & Id= & ST 6T T e
& gt ITer ferede; T Aoy gt

BT

Options:

1. * 31T + BT
2. v 3T + BIcA
3. % 3T + THICH
4, = =BT + A

Question Number : 82 Question Id : 54592744927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
St RU a17 ereg & WET ATY fATdg &1 [dheT &l

MTTSIEeT

Options:

1. = T + S
2. v 3T + Bl
3. % 3T + TEHICA

4., = TSI + S

Question Number : 83 Question Id : 54592744928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FMYeirad Uy #, IR Tddetl § ¥, 39 [t &7 Id= & 11 1¢T T e
& Telq TGt argelitg THTE & fawg & ey gt

SLICES

1. v 0 & R st araf geeadt ot
2. = §Id 3T aTeAT

3. « AT 3fae

4. = I ST 3fET

Question Number : 83 Question Id : 54592744928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ﬁ%@ﬂ%ﬁ%ﬁvﬂﬁmwﬁﬁ%w faeeT &l

SCRIERS
Options:

1. v 20d & Toraess 3aT a7 aEadr sir
2. = dd 3T dTell
3. = °dd § S 3¢
4. = 2dd ST 31T

Question Number : 84 Question Id : 54592744929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Malelied Uy ¥, I [ddedl 8 9, 39 [Aded &7 a9 & oI IUg 9 &+
ST, T gl [dPpeT gl

Options:

1. * WheldT
2. % TelTent
3. v [T




4. % 389

Question Number : 84 Question Id : 54592744929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST 39Tl & et 9IS hT TET Tdhed &

Options:

1. « AT
2. = TTelTehT
3. v Toiate
4. % 33T

Question Number : 85 Question Id : 54592744930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgelied Uy #, I [ddedl # 4, 39 [Admed @ Id9 & oI Ucdd 9 &

ST, T gl [dPpeT gl

Options:

1. » gidduer
2. v dG®H

3. % Ta=dr
4. * god

Question Number : 85 Question Id : 54592744930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST UcOT & Fa s T Tl hed &l

Options:

1. = Afcishel
2. v ol&Eh
3. = T9aar



4. = gHd
s I %

Question Number : 86 Question Id : 54592744931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fgerad U ¥, IR [Adeul § 9, 39 fardhey & o2 B ST Y A, P
gt fddeu 2 |

Options:

1. % ZSTATT
2. % FETATT
3. * ST
4. v ST

Question Number : 86 Question Id : 54592744931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST g esg T Tel ahed & |

Options:

1. = gIoTellell
2. = SISTEIaT

e

3. * SIATCIS]
4. v %?WHT

Question Number : 87 Question Id : 54592744932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYleirad Uy #, IR Ta@eul § ¥, 39 e &r Id= & S 1¢J T e
BT Tg! GATT 3ref qTeT erhey g

erdr

Options:

1. = 3rM99q
2. % ST9MTeh




3. v W
4, * Mg

Question Number : 87 Question Id : 54592744932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
S T&W 910 elee &1 Tal AT 3T grem Ahed &l

Sadr

Options:

1. = 3Teaa
2. % UATH
3. v A
4. = foemE

Question Number : 88 Question Id : 54592744933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgtetad v ¥, o [Aweul § ¥, 39 9E! OweT & I3 o ST hisd J
feU Tq <Iee o1 gt [ddey g

THST = 31T YT @l dMTel! (S|

Options:

1. v Eg@TaT
2. = T&®Tar

3. * eIl
4, » FAHT

Question Number : 88 Question Id : 54592744933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
FL ST HIvoch A U A0 orsg KT T Ahed &

TR o T A5 T Fmell (TN |

Options:

1. v REmr
2. « fe@mar
3. = e
4, = ST

Question Number : 89 Question Id : 54592744934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fylerad vy §, IR aeul § ¥, 39 e &r Ig= &2 St 1aT T e
o Telq aTgere e &l Jod 38T f[ddey gl

GIE)

Options:

1. » TSy
2. % Taream
3. v AT
4. » AraF

Question Number : 89 Question Id : 54592744934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST 20 90 orsg o TOIU S@adel o1sg &l Ted 37T [d%hed &l
o

fafer

Options:



Question Number : 90 Question Id : 54592744935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyo@d vy §, o Aeeu § 9, 39 dew & a9 o S disad § U
Y e, & IR IAH T3 qTereh ATH DT eI 0T [ddhe? gl

Options:

1. * ( 39F ) U A 30T GRT GTAT & 1T 2

2. % (AN ) B WY B WET ST A AT T grar

3. = { 3T ) &I ST TeTd PIH T SqhT g/ STIC, Ta1 &l
4. v (B9) 3IUAT AT AT T T v

Question Number : 90 Question Id : 54592744935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
Sl hIsaeh H QU a0 ereq & AN Sccdd &Y drdsh HdelTA
FT oD ol ke T

Options:

1. % ( 3aTh ) 9T Ha YT GRT TTHS TF &ar &
2. « (A ) R N FH LT @1 § FAT LN gl

3. % ( T ) FET ST Ield HIH Fd SThT gH 3FAIG oo AT
|

4. v (( Hel ) YT FH FAT W [T TR

Question Number : 91 Question Id : 54592744936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fgieiiad Uy #, IR Adetl § ¥, 39 fadbey & o2 B ST Y aTFd P
ged 3OT [ddeT 3l

Options:

1. * & UAT AT 47 39 90T W UTY dhdel o9 9 717 2
2. v & UAT AT @ 3T 90T A UTY hdel a9 F4T A
3. * ¥ UeHAT AT af ag 0T A UT9 hder a9 44
4, = W UAT AT 91 39 AT gAY U dardl 819 €0 2

Question Number : 91 Question Id : 54592744936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafo@aa ues &, I) [heur A @, 39 TFheT FT TTT M
ST g a7 T TSI [dhed g

Options:

1. « H USAT IRT Al 38 AT AL YT hdel ST T AT I
2. v # UTHT AT AT IF HT AT UTH shad S FII o
3. = H Ucal T d 98 HAY AT U shad g §93 2|
4. » BH USAT IAT Y 3T THA &AL U hadl ard ¥4 o

Question Number : 92 Question Id : 54592744937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgieiad U ¥, IR Adedl § 9, 39 [adhey & o2 B ST o aTFT Pl
ey 3OT [ddeT 3l

Options:

1. v TA TSI # AT 3R Idmel Uh UTE UL 1T Ui

2. % YA IS # AT 3R Ihel Uk UTC UL UTHT Ut i
3. % I T Pl A H U °TE T2 U1 Ui I

4, = T T { AT ATAT TR T ©TE A U= g I

Question Number : 92 Question Id : 54592744937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




fFITaad wed H, I” @hedl A &, 39 [AFed FT IIT
ST g qIFg T T TSI [dhed g

Options:

1. v TA T # o9 3T §hiT U °c W 9rer g o
2. = TH TsF # AT 3T Tl Tk G 9T 9Tar drar o
3. * TH TST I N &FhiT Ueh g1 YT YlaT 9Iad o
4, = TH Tod H AT 37edT dodl Teh HE I 9rar Ui

Question Number : 93 Question Id : 54592744938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YTl Uy #, IR eyl § ¥, 39 ey & a7 B ST a0 g
geh AT T WGl [dhe g

Options:

1. * = & & 9 g Tehera 3T gl
2. = o & & 9 g, Tehera 3N Agere|
3. » oI o & W, g: Uherd 3 sger
4. v o€ & &f W, §:- Tehera 3T sgere|

Question Number : 93 Question Id : 54592744938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST A Reer o/ a9y #1 TEr fGked &

Options:

1. « 9 % o g § Uhadel 3R Sgade|
2. » gl % o #g ¢, Thade AT FgaTe|
S.Wawﬁa?m%:nm?raﬂ?agaﬂ?r
4. v T & a1 A §:- Tehawel 3T sgae |

Question Number : 94 Question Id : 54592744939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fgieiad Uy ¥, IR [aaeul § 9, 39 fadbet & o1 o S 1U T ggTer
T T 37 ATelT ey gl

SOUCIEELS
Options:

1. % 37eNT-3(6T §IH]
2. v Gd TATT GIFT
3. * GeATHS hl
4, » TUE gl

Question Number : 94 Question Id : 54592744939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST feU arv Feral 1 d@er 37 arelm fawed &

o 5
cdl slelal -
Options:

1. = 3ToldT-3Tol9T &laTl

2. v & TAE Gl

3. ZRITHS, el

4. = TUSC gl

Question Number : 95 Question Id : 54592744940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYeirad U #, IR Tddell § ¥, 39 [dded &7 Id= &SI & TS dAldhiih
T T 37 ATelT ey gl

Options:

1. = o7 7Y Fom




2. » 9t 9T gl DIt &
3. v ol Pga S DI gl G ST

4. * Tcddh o] BT UM

Question Number : 95 Question Id : 54592744940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST & 9T llehITerd RT Tl 3797 arell fdehed &

oS5 e HE HIST o1&l BN -

Options:

1.« 3707 o8 f&ud

2. = 8% ATH & FThr g

3. v had B G HIH &I &l S

4. = Yook TE] F ng'ﬂﬁ?T

Sub-Section Number: 2
Sub-Section 1d: 5459272671
Question Shuffling Allowed : Yes

Question Id : 54592744941 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

Question Label : Comprehension



S TWENS Bl T Yeeh U¢ A IR el § ¥ Yol T Bl Fellad JtT

Gl

feremelf SiterT et ATTer Siter @t UG &l ggl thg T DS ATdAdIed gl gt
| TaremmelT et ¥ aTete § ST TR U ST 3 Sia--9L agl T AT
g 81 SUIIT TGT hleT ITLTILAAT BT AT 3l ATE, IZ 19 &6 & STl 3
dT SierT Yeg 3R YT a ST gl ATe, T Bel § SlTeldh BE g B oAdTl 5
AT IYPT TR & 4T gl T, AT TR AT P 1T g al I4 FA
THeTAT 3, SYRT ATHTEE Trp graT 3l N9 g& o yRY ¥ e Mo 3l
GTe, THel STl 3, g Jioud e Ueeliad gles 99X i GRY & &1 3l
ZGT TR Taeme Pret § ST aTeid 4W, AT, AT Ud WA & grd &
ol SITdT &, og 3MMesl TAemel add T ATTD o FATdT 3l I A0TRD
& TelT I=-1997 170TT Bt 3rrearedahdT g 37 UM & T Tt et gt ar
gl UTTSHTET gl TG U 37T AT & Sler Tg Y o T 07 31T ST
AATD &, [A-Tept TAermell Pt T Sia=T § ITaTdar giar al

Sub questions

Question Number : 96 Question Id : 54592744942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl Sitere &t 4 @ ggt faredl Sfie @t &4t AT ST 82

Options:

1. » QI Sita feremdt siter U gerdT gl

2. v S & Teremelf St # U8 ATd g o GEhE Tl g I1d &
3.  Taremdf Siter @ Siter grar gl

4, « Tt sita & 1 THerdr 3l

Question Number : 97 Question Id : 54592744943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TENSr # “g&r [l Hgl TAT 372

Options:

1. = TS @l
2. v Taerdf @
3. % S{fee @r




4. = AT B

Question Number : 98 Question Id : 54592744944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe; Taemel drer § dTeleh HE g DY oldT g I IYhT T BT &+ STl

¥,

Options:

1. v g=T
2. % Aol
3. ® TCATH

4. » GHEITIE

Question Number : 99 Question Id : 54592744945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR T DI - T TS BT TATIATT Tl a2

Options:

1. = YA
2. % (AR T

3. % T
4. v 32d

Question Number : 100 Question Id : 54592744946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 31O, A DS IJuYh ATid-

Options:

1. = T[T
2. % GEJ ATRE

3. v TeredT Stte
4. % =& U

Question Id : 54592744941 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

Question Label : Comprehension



S AT 1 ATAYAh T¢ T AR Thedl H & Tcdsh U

T HalcdH 3ol t_lﬁl

ozt Sfaer T #ATera Siige &1 fig &1 337 &g dl s
sifrerfebed w&ar g1efT| Tacamdf shrel A dTeleh & ST HEPN U3
ST & Sad-9T gl G A I{d &1 SHITT Tar el
ITURTEAT a7 IRT &1 Iie I§ +ild T@ &af oldl & ol SAdel

Fee 3R gAY o ST &1 Il 57 FTel A STk FvC Tgal W
o dT & ar 3T TEeey i:l;c't{ SoTdT &1 AT A PR 3T
Y ofdT & arF 38 AT AT &, 39T A G Oh g giar &l
o e ge7 1 UReT & Fex Raer AT @re e ST §, a8
I Ud Yeolidd Blhd TN I HITH ot ofeTal &1 T Th
ﬁa‘m&ﬁ Tl A Sl STeleh SH, eI, TAY UG oa\ T
g H g SIar &, g8 e’ ﬁa‘ﬂT&ﬁ ToTehd T¢I AT §al
ST &1 T8 AR & forw forer-forer aquit v simaeashar §
31 0N & folv faegredt Frer & af el TToeMmell &1 T8 W
39el AT o i T FT I T 0T 37 Slel 3AITH E,
fSierehr Tagamdf &t 319a Silgd & 3aedehdr aldr gl

Sub questions

Question Number : 96 Question Id : 54592744942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATeta Siigel 1 g FT g331 facredt Siae T FAT AT AT
g7

Options:

1. = 9T Siger faearedl sfiger 9T Teidr gl

o,




2. v St TR ezt Sae # ug a1 & 3 GThR TURT 8
ST &

3. » Taemdl Sfraer gzir Sfaer &Iar g

4. = Taczmdf Sfaer # AT fHerdr g

Question Number : 97 Question Id : 54592744943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H ‘FaT fhd gl a3ar g7

Options:

1. % 95 I

2. v Tagaradt &y
3. = Siiae @l
4. = AT T

Question Number : 98 Question Id : 54592744944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe Taemadl Frer & STelh FSC TG HL ofdT § dl SR
T T Fol ST 57

Options:

1.&@&'{
2. = Hlolel
3. * ECollh

4. = FATATIEI

Question Number : 99 Question Id : 54592744945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SoIH # Hid - T 3T T GAITRT ol g7

Options:

1. = JTdHAT




2.wmﬂﬁaﬁﬁtra;m
3. = FHeT
4. v 3%d

Question Number : 100 Question Id : 54592744946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH 3e[eoe, T I STPFA ATieh-

Options:

1. = 30T
2. *= H¥T AP
. v Taeamedt Shae

3
4, = Feed TR

Disciplinel
Group Number : 6
Group Id: 5459272226
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplinel
Section Id : 5459272226
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 5459272672
Question Shuffling Allowed : Yes

Question Number : 101 Question 1d : 54592744947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

___refers to the professional codes used in the selection,
construction and presentation of news.

Options:

1. = News principles
2. v News values
3. » News angles
4. = News styles

Question Number : 101 Question Id : 54592744947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

_ HATRT & T, T 3T IR0 A TgFd 9L
gfgarst 9 gafad &

Options:

1. = gARR g

2. v HAKX #Hed

3. % THATAN TIo&ehioT
4. = FATAR ATer=m

Question Number : 102 Question 1d : 54592744948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a journalistic sense, is reporting matters without
taking sides or expressing opinions free of subjective values.

Options:

1. v objectivity

2. % accuracy
3. *» honesty



4, = subjectivity

Question Number : 102 Question Id : 54592744948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gaR & Test #, veTura forv foar AtFer v Rafésr s, ar

Q%qlnmﬁd Hedr | AT T Fcd Hilal] FETdT &

Options:

1. v aEdfesad
2. » TICL&dT
3. % SHIER]
4, = AYTART

Question Number : 103 Question Id : 54592744949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a type of journalism intended to promote a position
on a political, controversial or social issue.

Options:

1. = Political journalism

2. » Social journalism
3. » Promotional journalism
4. v Advocacy journalism

Question Number : 103 Question Id : 54592744949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Ush Uh ahl TARINAT & ST [ohdl Iofalfcieh, Taaried
AT FIATSIF Hed ¢ feufd v a3 & folw gidr &

Options:

1. % TToTolldeh TR
2. % AT TARIRAT

3. % YA TRl




4. v TETTATT TR

Question Number : 104 Question Id : 54592744950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Identification, usually printed at the beginning of an article of
the journalist or reporter who is responsible for the news
story is known as

Options:

1. v byline

2. = caption
3. = Imprint
4. = dateline

Question Number : 104 Question 1d : 54592744950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordlT TR 3727aT ROICT & 3@ & URH # Afed ggdre, S
3 AN $aT & O IcaierT gdar g, hETdl &l

Options:

1. v STeollael
2. = 3Uei¥eh
3. » sfFveE

4., = 3ColSel

Question Number : 105 Question 1d : 54592744951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Longer, more probing articles or a story in print medium,
covering human interest topics opposed to hard news is
popularly called :

Options:

1. * news analysis

2. v features



3. # Investigative news
4. » human interest stories

Question Number : 105 Question Id : 54592744951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Aregy A A9 o9, 3T ISdlel Hlel dTel 3Tl AT
AT, FOHE W AT GARR & TWRIT AGE § & &var
FT g hIT ST &, F BT aTH & STed ST &

Options:

1. » AR Tgeeiyur
2. v g

. Y
3. ® [ddddlcHP AN

4, = ATAGT HATAET Tl FHaTlaaT

Question Number : 106 Question Id : 54592744952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An organisation that compiles, writes and distributes news to
media outlets is known as

Options:

1. = news ombudsman

2. = news bhulletin
3. * news manual
4. v NeWs agency

Question Number : 106 Question Id : 54592744952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TARN @ahiold da, Ter@a 3 :AIf3IT 33caed & AaRa
el AT TS g &

Options:

1. » FHAN ollR4Tal




2.&14?41?41?@?@?
3. » HATAR TeTdTerenT
4. v HATAN TSAT

Question Number : 107 Question Id : 54592744953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The study of body language such as postures, gestures, touch
patterns, etc. and the messages that they convey during
interaction 1s known as

Options:

1. = proxemics
2. v Kinesics

3. = polemics
4. = poetics

Question Number : 107 Question Id : 54592744953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTINE Fra-armal S T Hra-sfranst, Aarsd, Fuel deat anfe,
qUT STAATT & GRIe 3eleh GaRT SFd TohU STal aTel AL T
3, FEATT &

Options:

1. = Uira T
2. v FSATHFT
3.« Urafded
4. » qUTEFH

Question Number : 108 Question Id : 54592744954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




The study of the kind of zones that people maintain while
interacting that varies from culture to culture is known as

Options:

1. = body zone analysis
2. » zoonotic study

3. v proxemics

4. = physical analysis

Question Number : 108 Question Id : 54592744954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST E@RT ST hld TAY FATC T ST dTel Siiel, ST Teh
H gl GERId H 3Tel9r-37600T Bl &, o ThRI I
eI FgelTdl ol

Options:

1. = §IaT Sllel Welllel IO

2. * Slellféeh T3
3. v Uieradsg
4. » I TFeevur (fhieihel TaTTel i Ed)

Question Number : 109 Question Id : 54592744955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the arena within which debates occur. It is the
generation of ideas, shared knowledge and the construction of
opinions that occurs when people assemble and discuss.

Options:

1. v Public sphere

2. » Common good
3. » Public good



4. = Common sphere

Question Number : 109 Question Id : 54592744955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ag &1 & SigT 9gd Bidl gl JeT @lel
ThiAd &l T TAT el 9T IET TAART hT 38T, AT I HTETl-
e Y T AT g9 &

Options:

1. v HId<lTasr &7

2. % HIEAT dlehigd
3. = HIdollaleh &d

4, = HIST Tl

Question Number : 110 Question Id : 54592744956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

refers to the practice of using language to persuade or
influence others and the language that results from this
practice; the formal study of oratory, exposition and
persuasion.

Options:

1. v Rhetoric

2. = Lingua Franca

3. = Persuasive communication
4. = EXpository

Question Number : 110 Question Id : 54592744956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 37T GERT A URT IT gATIdT Hlel o felw s
T 3T el hT TOf Tar 39 9T shr 9OmAT 99T § &,
SHH Terclcd hell, TaThIel, 3T gareel emfde &

Options:




1. v URTeTaee (RARER)
2. = TOII3T IRt

3. * JaIgs TR

4. = 3URTLR

Question Number : 111 Question Id : 54592744957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In language, media and communication, are words,
pictures, sounds, sequences, stories, etc., that stand for ideas,
emotions and facts.

Options:

1. v representations

2. %= references
3. ® resources
4. = repositories

Question Number : 111 Question Id : 54592744957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

{TST # AfEar 3N o9, oTeg, O, egfadr, &H,
Faferm e a1 &, o Rent, sraanst 3w gzt «r T
AL &I

1. v m—gf&ww

2. = HeH

4. = NOieTedr=t

Question Number : 112 Question 1d : 54592744958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



1s the study of signs. It seeks to understand how
language is made meaningful and how meaning can then he
communicated in society.

Options:

1. v Semiotics
2. = Signology
3. = Signometry
4. = Soclal signs

Question Number : 112 Question Id : 54592744958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UdTehl ShT 3eTAeT FEldl &l STH I§ HHASTA FI
T T ST & F 91T R R erferaerelt sddar & 3K
38 T ¢ Fg diE & AT & Teel §uisg TR ST Iha &1

Options:

1. v afasnfesa
2. = HISalellolr
3. = HIZIHICT
4, = TIATSTHR Tehd

Question Number : 113 Question Id : 54592744959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An aspect of a story that makes it newsworthy, important or
interesting is known as

Options:

1. = news values

2. = news angle
3. ¥ News peg
4, » News source



Question Number : 113 Question Id : 54592744959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEMeT T Uge[, SN 38 AN TP, Agceaqol, AT V< Tl
g, gl &
Options:

1. » HA Hed
2. » HATANR IO
3. wmﬁﬁw

4, = AR @A

Question Number : 114 Question 1d : 54592744960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s stating who said something. Journalists do it so
that readers or listeners can know who is speaking or where
the information in the story comes from.

Options:

1. v Attribution
2. = Association

3. » Accommodation
4. = Assertion

Question Number : 114 Question Id : 54592744960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g8 FUA § Sl FT c¥Fd R &l TIRR 34
FId & difeh UTSeh 3UET AT Silel b Toh hiel siel &7 § 3R

FETaT H AT FHgT T 3T G T

1. SRR (o)
2. = gaIrawere

3. ® URIAIZLT



4. = wgele

Question Number : 115 Question Id : 54592744961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The collection, dissemination and analysis of news and
information by the general public, especially by means of the
internet is called

Options:

1. = internet communication

2. v clitizen journalism
3. = online communication
4. = web journalism

Question Number : 115 Question 1d : 54592744961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GTHTeT STelclT GaRT, et Scdelc & ATETH & HAMRI i
deholel, TR AR faeayor FEeTdT gl

Options:

1. = SHaAc TAR

2. v ST ARl

3. % 3TolSe TR

4. » AT TITRILA]

Question Number : 116 Question 1d : 54592744962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Reporters at a location remote from the newspaper, who sell
occasional pieces at space rates or by the column inch are
known as

Options:

1. v stringers
2. = correspondents



3. » speclal correspondents
4. = staff reporters

Question Number : 116 Question Id : 54592744962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR 99 & T & eI T W NI, ST THAT-THT R
TOH U 9T IT ShiolH =9 o fgge & Afese amr s=a &, 3
FEATd &

Options:

‘I.Jﬁ'ﬂff

2. » gdlegrdl
3. » T39Iy garegaran
4. = TCH AT

Question Number : 117 Question 1d : 54592744963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ability of the dominant classes to exercise social and
cultural leadership to maintain their power over the
economic, political and cultural dimensions of the nation is
known as

Options:

1. = coercion

2. v hegemony
3. » dominant paradigm
4. = supremacy

Question Number : 117 Question 1d : 54592744963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tsg & JDF, Tsfallch 3T TERIdH TgI3T T el Hedl
FATT Tal & TolT ATATGTF 3 HAERIdR diged T TAT Hlal
shT TaTcaelTell ot T &7, Hgerdr ¢l

Options:

1. = 3cdigel
2. v ATeRIharg
3. = W ufaAT
4, = HMAIT

Question Number : 118 Question 1d : 54592744964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Opposed to literacy, refers to those aspects of a
culture’s way of life that are attributable to its investment in
the resources of spoken language.

Options:

1. = spoken society

2. v orality
3. » visual society
4. = readability

Question Number : 118 Question Id : 54592744964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

rear & awig, fordT e Sae
VRN o 3o Ugo[3il & Hafdal & Toletehr AT el el arell ITaT
& AT H 9% foider HT AT &

Options:

1. = AT HHTS
2. v HlEeRar
3. % T HATSA




4. % TSAIT

Question Number : 119 Question Id : 54592744965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Culture based on the tastes of ordinary people rather than an
educated elite 1s known as

Options:

1. ¥ popular culture

2. = public culture

3. » elite culture

4. = culture of the oppressed

Question Number : 119 Question Id : 54592744965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fea nTASTT Fr VST TTATET 9T T HTHEAT W
e TEpfa gellal gl

Options:

1. v ST GERid

2. » Gl TPl
3. = IS GERId
4. = ZTAT HT TEHIT

Question Number : 120 Question Id : 54592744966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Biased or misleading information used to promote political
cause, ideology or point of view is known as

Options:

1. = politics of signification

2. v propaganda
3. » 1deological appropriation
4. = Information signification



Question Number : 120 Question 1d : 54592744966 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

TToTalfaeh 3e2ed, faumeRy srear TfeehT &7 TR Fla &

e ERET] TETATAYUT AT HTHS AT

Options:

1. = FTNRAT T TSalld

2.Jw
3. = 3eefare Afeaaste
4

. % el reerdT

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
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Question Number : 121 Question Id : 54592744967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The theory that people’s willingness to express their opinion
on controversial public issues is affected by their largely
unconscious perception of those opinions as being either
popular or unpopular is knownas .

Options:

1. = cognitive dissonance
2. » cognitive silence
3. = spiral of dissonance
4. v spiral of silence

Question Number : 121 Question Id : 54592744967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faarfed drdeifas® Heal 9T 379l T chFd Flal T ol hr
TTSI, 3o1 Al o SRUT IT 3AlhIT T H 3elch ATIh
Hadde S § WHITIT glar g, I8 [ard EREICINY

Options:

1. = STeTcHS IS
2. = SIYTcHe Hidl
3. * 3T Fsoll
4.%%?@'

Question Number : 122 Question Id : 54592744968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

refers to perceived transformation among
traditionally serious newspapers of news into a popularised
and sensational forms.

Options:

1. = Sensationalisation
2. v Tabloidisation



3. = Editorialisation
4. = Sanskritisation

Question Number : 122 Question Id : 54592744968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 37T FARRI & YRUNE AR ARSI &l
AR AR FagaIEs TaRUT § AT 30 FITA0T & 9T &l

Options:

1. = HeaedeTsoreled

Question Number : 123 Question Id : 54592744969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

, by remaining outside of market influences,
provides a much needed public forum within which
information dissemination can occur, aiding in the
stimulation of public debate.

Options:

1. * Commonwealth broadcasting

2. = Popular service broadcasting
3. = Corporate service broadcasting
4. v Public service broadcasting

Question Number : 123 Question Id : 54592744969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

, SO mﬁﬁwmﬁy,waﬁww
HTasifoleh AL YaTel Ll &, TorH FAAT3HT HT THX g1 Fehl
g, oEs gravfes §8d AT ®e & Fgadar [Herdar g

Options:




1. = FIAAACT ISR

2. » 9YeR HIGH HTSHIEI]
3. » HARE TAMAH FIShITedl
4, v Ufcelsh GIAH FI5ehILedl

Question Number : 124 Question 1d : 54592744970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This is when technology transmits digital audio and data
alongside existing AM and FM analogue signals. This

offers FM multicasting or the ability to broadcast multiple
program streams over a single FM frequency, with static-free,
crystal-clear reception and a variety of data services including
text-based information.

Options:

1. »# high definition radio
2. = digital radio

3. » satellite based radio
4. = advanced digital radio

Question Number : 124 Question Id : 54592744970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teheilsh @RI fSTelce 3If$aAT 3 Ser T Alslar AM 3K FM
TaTellaT faaTall o AT VETRA Sdal O UET BT &1 I8

FM SETERUT 3feraT Th gl FM 3gfca W #&feeh-
g, Torece-Fellay Nl AT Soree-3TaTiRd gerelr digd
AfaT v T 32T T3t ART 37 FRIHAT Al THIRT el
T &THAT USTT FIAT &

Options:

1. v 85 STthfarerer IS




2. » RBfaee ==
3. » Hase TR IEar
4. » vsarEs Bfacer =

Question Number : 125 Question Id : 54592744971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Marshall McLuhan’s famous maxim, refers to his
belief that each medium shapes the nature of the message it is
designed to deliver.

Options:

1. v medium is the message

2. * medium is the market
3. * medium is the channel
4. = medium is the content

Question Number : 125 Question Id : 54592744971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arele Herolglel T Uidg Hidwa, , 38 39 faeag
# gafdd § TF ucds AT, 39 HAA T IPhid Hl HHR
2dr & S Wald il o [olv Ig BAse fohaT =T &I

Options:

1. v ATETH T3 &

x HATETH S9N &

2.
3. = ATETH ol §
4. « ATIA fAvIaEd B

Question Number : 126 Question Id : 54592744972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Indian State Broadcasting Service was renamed as All India
Radio on June 8,



Options:

1. = 1947
2. % 1937
3. = 1927
4. v 1936

Question Number : 126 Question 1d : 54592744972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRCT o YERUT §aT T AT 1A el $i531 I3, S 8,
ST TET I=ATI

Options:

1. % 1947
2. » 1937
3. % 1927
4. v 1936

Question Number : 127 Question Id : 54592744973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Benjamin Day is credited with founding the ‘penny press’ in
__, offering police news and human-interest stories in an
easy-to-read format. At this time, several new concepts took
off, such as employing specialised ‘reporters’ and selling
papers on the street rather than by subscription.

Options:

1.~ 1833
2. % 1733
3. % 1933
4. % 1633

Question Number : 127 Question 1d : 54592744973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sollffel 3 & H 'Uell U9F TS e T 97 f&ar Smar
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Options:

1. v 1833
2. = 1733
3. = 1933
4. = 1633

Question Number : 128 Question Id : 54592744974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

During the , magazines and a newly created radio
industry were competing with newspapers for advertising
dollars, prompting many newspapers to consolidate.

Options:

1. » 1910s and 1920s
2. = 1930s and 1940s
3.+ 1920s and 1930s
4. = 1940s and 1950s

Question Number : 128 Question Id : 54592744974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

, & ENTe 9fEeT 3R TR Aafida I3 3,
farATasdl T 3T & TATIRTE & TIUT T 7@ o, forad afeth

JHERYAT 7 AT &3]
P

Options:

1. = 1910 T gereh 3T 1920 T Z2rh




2. % 1930 T Tereh 3T 1940 FT 2ok
3. v 1920 &1 2elh 3T 1930 T T2+h
4. % 1940 T gereh 3T 1950 FT 2o

Question Number : 129 Question Id : 54592744975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Countries with the highest newspaper readership are Sweden,
Britain, Norway, Denmark, Japan and

Options:

1. = India
2. » Russia
3. = China
4, v USA

Question Number : 129 Question Id : 54592744975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATIRIAT hT GaTfdes JIosh EAT dlel 397 T8, T§deT, o1d,

SdHTh, ST9TeT 3T gl

Options:

1. = #AA

2. = ®H
3. = Ul
4. v chrd T TANRT

Question Number : 130 Question Id : 54592744976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The cost of reaching 1000 consumers, calculated by the cost of
placing an advertisement, divided by the number of
thousands of consumers it reaches is known as

Options:

1. v cost per thousand




2. = cost per million
3. * media reach
4. = media impact

Question Number : 130 Question Id : 54592744976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk A AT S hT ST hl, 3T STHIFAIT Fr g&ar &
Reaaa = gv, ST e I8 qéﬁdu, 1000 3THFa3i g+

qéﬂﬁzﬁramﬁ Faeldl &l

Options:

1. v dRId 9 &I
2. % QR Uld &9 oy
3. = Aifsar I

4. = FEAT yHT

Question Number : 131 Question Id : 54592744977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Exposure to an advertisement that brings about consumer
awareness with little expenditure of time, money and effort is
known as

Options:

1. = advertisement exposure
2. = consumer awareness Ad
3. v effective frequency

4. = cost effective exposure

Question Number : 131 Question Id : 54592744977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT, 9 3T I & FH T & 1T STHISFAT SATTEhd]
3ol el Aol AATTT & TIH el ol

Options:




« AT 99Uk
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Question Number : 132 Question 1d : 54592744978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An announcement carried free by a media outlet promoting a
program or project that is deemed to be of interest to the
general public is called

Options:

1. = cost free announcement

2. » programme promotion announcement
3. v public service announcement
4. = public interest announcement

Question Number : 132 Question Id : 54592744978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATdelfeier Tod H AT STl aTel RAT FRIRH AT IRATSTT &
TR g TR HifSar si3cele carT fol:efesh T STl dTell

YOI Faelldl ol

Options:

1. » dmETd g GO

2. % FRIRA YT GIYOT
3. v Hdelleleh HAT HIYUT
4, = HIdolleleh & GNOT

Question Number : 133 Question 1d : 54592744979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The tendency of consumers to buy the same brands they have
bought in the past is called

Options:

1. v brand loyalty

2. = buy back loyalty
3. = product loyalty
4. = personal loyalty

Question Number : 133 Question 1d : 54592744979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tgol THIS 9T FET hr & e & Tliea sl ITHIFarail 1
ygfed FgaTdl &

Options:

1. v &8 fasar

2. » gamdle fasar
3. » 3curg fasar
4. = YA TosaT

Question Number : 134 Question Id : 54592744980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The rate at which users stop using an app during a specific
time period is known as

Options:

1. = stop rate

2. » app block rate
3. ® no business rate
4. v churn rate

Question Number : 134 Question 1d : 54592744980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g o, 99 W 3T T [@fese gaEg 3afy o e R
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Options:

1. = TAIT &I

2. = U sollsh &l
3. % & ooy &
4. v IT I

Question Number : 135 Question Id : 54592744981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a publication brought out by the public relations
division of a corporate institution to promote the interests of
internal public.

Options:

1. = Lab journal

2. v House journal
3. = Public journal
4. = Corporate journal

Question Number : 135 Question 1d : 54592744981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MINE SeddT & BAl I Far 2o & o0 hal FURE TEAT
T STAHIh LMTET ZART TSI TehTere hgolTdl &l

Options:

1. = ofF SfeTel
2. v B39 Sl
3. = Ulseleh Sietel
4. = HMARNE SleTol

Question Number : 136 Question 1d : 54592744982 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

1s the gap between the information rich and the
information poor.

Options:

1. v Digital divide

2. = Digital poverty
3. = Digital gap
4. = Information divide

Question Number : 136 Question Id : 54592744982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Il §HE 3 AT U0 & HET 3aTel
FETAT &

Options:

1. v Bioce ”™oTsTer
2. » Tefoca adadar
3. = RBfSee arae

4. = Gl CEIEG

Question Number : 137 Question Id : 54592744983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a version of reality enhanced by digital
information (sound, images, video) often displayed as a visual
overlay through a device.

Options:

1. v Augmented reality

2. = Digital reality
3. » Enhanced reality
4. = Virtual reality

Question Number : 137 Question Id : 54592744983 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

U Ueh [3a12d o ATEIH & 72T HEIRIUUT o §T H Ygeld,
fSToicer gerem (eafer, sigan, difsa) ganT Fardd RIferer

GERIOT FETdT &l

Options:

1. v 3PTHES RAToldr
2. = TBTolce Raferdr
3. » Ueges RAfeldr
4. = gU3fer Rferd

Question Number : 138 Question Id : 54592744984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s an online service that allows users to organise and
create stories by importing and displaying social media
content such as Tweets, Facebook posts and other media.

Options:

1. v Stority
2. = Storyline

3. » Storyboard
4. = Screenplay

Question Number : 138 Question Id : 54592744984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh 3iTalcllSel AT & SIf SUATFATHT ahl Grerel ANTSAT
méﬁ%aﬁw g TEC 3R 3T AIfSIT FI 3RS
IR vefeta Fd gu FETAT sFaedd R AT Fle l
grarar getel i %’I

Options:

1. v TENHIFEE




Question Number : 139 Question Id : 54592744985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Content such as texts, photos, videos, etc., that is produced by
users including visitors and non-experts and published often
via the web or social media 1s known as

Options:

1. = user produced content

2. v user generated content
3. x user constructed content
4. = user content

Question Number : 139 Question Id : 54592744985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faferedt 3R IR-foevat afga sweranst gart AT 3 ar=:
a9 37T Tere AT 2grT YT faszaeg & fF u1s,
Hier, difgar, anfe hgeldl gl

Options:

1. = 39T 2anT AT favgaeg
2. v 3UUIFAT ZaRT ool favaaed
3. * 3TUIFAT T@RT AT favaae]

4.&@%%@@—@

Question Number : 140 Question Id : 54592744986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




1s a major approach within the participatory
mode, that combines participation and two-way
communication methods and tools to ensure mutual
understanding, investigate key issues, minimise risks and
identify best options to build a broad consensus for change as
defined by the stakeholders.

Options:

1. = Two way participation

2. » Two way communication

3. *» Development participation

4, v Participatory communication

Question Number : 140 Question Id : 54592744986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. * I aUH TeHTEar
2. % AT dIHl HIR

3. = oM TEHTEET
4. v HEHATIT AR
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Question Number : 141 Question Id : 54592744987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s an investigative method to assess the
situation related to communication issues such as audiences,
media environments, communication institutional capacities,
information flows and networks.

Options:

1. = Development needs assessment

2. v Communication needs assessment
3. = Situational needs assessment
4. = Media needs assessment

Question Number : 141 Question Id : 54592744987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % @G TR cl-lt\':*%-licho'l

2. v HOR @Il Hedlhel
3. * GRICATAIT IHTaeTehcl Hodlhe]
4. = AISAT MERIARAT Hediehel

Question Number : 142 Question Id : 54592744988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a process leading to individuals being able and
willing to take part in decisions concerning their own lives. It
can refer to a personal, community or institutional level.

Options:

1. = Leadership

2. v Empowerment
3. = Statesmanship
4. = Community leadership

Question Number : 142 Question Id : 54592744988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh UThaT & SIF STTFdAl @l 3eleh 3Ual Sildel
& Fafaa Aol # 57 A9 3 T8t 3N STow sanr &1 I8
ST, THEE, I HEART TR & Tl g7 Fehrall &

Options:

1. % siqgeq
2. v GATFARIOT




Question Number : 143 Question 1d : 54592744989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The perspective or modality rooted in the modernisation
paradigm that conceives communication as an agent for the
dissemination of information and innovations is known as

Options:

1. * modernisation mode
2. = dissemination mode
3. v diffusion mode

4. = innovation mode

Question Number : 143 Question 1d : 54592744989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yfererTehdor ufdaTr # fafed aRme ar ansferdr, s @=r
T FIAT 3T ATUTTT THROT 8] Tk Usic & & H AT &,
eIl g

Options:

1. = 31T§43'|?1 RTRI{UT TTwY

2. % JORUT Tg&T
3. v To@or T@&q

4. » FTAUTIT TIEY

Question Number : 144 Question Id : 54592744990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



According to principles, individuals may make copies
of copyrighted material without seeking permission of the
copyright holder.

Options:

1. = honesty

2. « fair use
3. = ethical
4. = constitutional

Question Number : 144 Question Id : 54592744990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fagrdl & 37e[dr, RdRIge g S HFAfT forw
foar =afea, FORTSe arell OTHIT T gfafau=aT a1 Thd &

Options:

1. % SHTIGRT
2. v 3T 39T
3. = olfcIeh

4. » gaurfes

Question Number : 145 Question 1d : 54592744991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Misrepresenting a person in such a way as to lower the
individual in the estimation of others is known as :

Options:

1. v defamation

2. » misinformation
3. = libel
4, = slander

Question Number : 145 Question Id : 54592744991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. v HATASIe

2. % HTHD Tl

3. % IHTAeE

4. = HTHATAIA

Question Number : 146 Question Id : 54592744992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a law that protects authors, playwrights, composers
and others who construct original works and keeps others
from reproducing their work without permission.

Options:

1. = Intellectual property right
2. v Copyright

3. = Copyleft

4. = Creative commons

Question Number : 146 Question Id : 54592744992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk lelel & Sl Hel FicAT lold Fla dTel oIEehl,
FATCsheRRl, TR 3T 3o Y TET Har & 30 TeTaAfeT
forw foetr 3 R FT 3T FFAAT ZaRT Jel&calied e &
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Options:

1. » Fgr U JTAFR
T

2. v h

IRYET
3. = HIUTFE



4. « Trufea sraew

Question Number : 147 Question Id : 54592744993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

1s a person within a media organisation representing
readers and viewers and investigating potentially unethical
conduct of the organisation and people within that
organisation.

Options:

1. = Publisher

2. » Editor-in-chief

3. » Chief judicial consultant
4. v Ombudsman

Question Number : 147 Question Id : 54592744993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AITSAT TIGT A UISeh! 3T g2l T Uiafafdcd i
gTell Ush =hTdd BldT & I 9o, ddT 39 e H b
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Options:

1. = JhIRTh

2. = T HYTSh
3. » AEY T Tl
4. v olehuTel

Question Number : 148 Question 1d : 54592744994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An ethical and legal area of decision making wherein the
right is protected from unwarranted intrusion by the
government, media or other institutions or individuals is
knownas____



Options:

1. = right to life

2. = right to be protected
3. v right of privacy

4. = right against invasion

Question Number : 148 Question 1d : 54592744994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Golel &7 oifdsr 3T Flef@r &9, o FH FTAHR
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1. = Siidel T ITARR
2. = TI&TUT T TSR
3. v Taardr &1 3R
4. = MfaRATT & BEg IORR

Question Number : 149 Question Id : 54592744995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s an international news broadcasting company based
in the United States and founded in 1980 which was the first
to introduce a 24-hour news coverage.

Options:

1. v CNN
2. # FoX News
3. = ABC
4. = VOA

Question Number : 149 Question Id : 54592744995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v HITdATa

4. » dr3C

Question Number : 150 Question 1d : 54592744996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s an American linguist and social critic,
internationally renowned for his methods of linguistic
analysis and his work on power structures in media and the
dangers of globalisation.

Options:

1. » Antonio Gramsci
2. v Noam Chomsky

3. » Wilbur Schramm
4. » Marshall McLuhan

Question Number : 150 Question Id : 54592744996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3. *» Tdes{ THTA

4. » ATl HFdgTe

Question Number : 151 Question Id : 54592744997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Power exported through modes of communication from a
dominant country to others, affecting social, cultural, political
and economic situations in the recipient culture or country,
conquest by cultural means i1s known as

Options:

1. * media hegemony

2. *» media domination
3. » media freedom
4. v media imperialism

Question Number : 151 Question Id : 54592744997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = Hifgar anfdgeT
2. = Af3AT TeIca

3. = #AfsAr TadFar
4. v HIT3AT ATHTSTATG




Question Number : 152 Question Id : 54592744998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The was proposed by the United Nations
Educational, Scientific and Cultural Organisation (UNESCO) in
order to ensure balanced and objective news reporting on a
global scale which was resisted by governments and media in
the west.

Options:

1. v New World Information and Communication Order

2. » New Information Balancing Protocol
3. * World Summit on Information Society
4. = World Information Regulation Council

Question Number : 152 Question Id : 54592744998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dfeesh YA T Hfeld 3 avdfese gAmR Raféar glaead
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Options:
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Question Number : 153 Question Id : 54592744999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a genre of television programming that presents
purportedly unscripted situations featuring ordinary people
instead of professional actors.

Options:




1. = Talk show

2. = Llve programme
3. v Reality TV

4. » Game show

Question Number : 153 Question Id : 54592744999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question Id : 54592745000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A multichannel broadcast service for television and radio
transmitted via a communication satellite that subscribers
receive directly on their own receivers is known as

Options:

1. = satellite broadcasting service
2. v direct to home

3. = subscriber direct service

4, = direct access service

Question Number : 154 Question Id : 54592745000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 39 YGROT FaT
2. v BRFC T B1H
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3. » TIATHIZET SAiade Iad
4. = A VFOT A"

Question Number : 155 Question 1d : 54592745001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

refers to an activity of providing immediate audio
and/or video files over the internet to subscribers for
playback on mobile devices and/or personal computers.

Options:

1. v Podcasting

2. = Internet radio
3. = Webcasting
4. = Web radio

Question Number : 155 Question Id : 54592745001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v UISRITECT
2. = 3clac AT
3. % TERITECIT




4. » 99 IfsAT

Question Number : 156 Question Id : 54592745002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The name of the inventor of the World Wide Web and
director of the World Wide Web Consortium which seeks to
create protocols and standards for the sharing of information
1S

Options:

1. = Bill Gates

2. v Tim Bernes Lee

3. = Tim Cook

4. » Thomas Alva Edison

Question Number : 156 Question Id : 54592745002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
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Question Number : 157 Question Id : 54592745003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Russian-born American co-founder of Google along with
Lary Page is
Options:

1. = Alexander Putin




2. » Vladimir Lenin
3. v Bin Sergey
4. = Gorbachev

Question Number : 157 Question Id : 54592745003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. = 3felFeist gida
2. * TATGHI olfelel
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4, = MeErdT

Question Number : 158 Question 1d : 54592745004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The world order in which the exchange of information more
than goods, shapes, social and economic systems is popularly
known as

Options:

1. = world information society

2. = new information society
3. # global communication society
4. v Information society

Question Number : 158 Question Id : 54592745004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qg Taeq cgaedT fSHA avdait & 3ifas el w1 Here-
TaTe ATATSTS 3T anfdes gonfet s AI 3arT &,

F dATH & STelT Sal &

Options:



1. = Tgeg AT THTS

2. % od AT HATS

3. % gTegeh T FHTS

4, v AT HATS

Question Number : 159 Question 1d : 54592745005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The name of an interface that enables a computer application
to interact with another computer application is known as

. These interfaces also save time because programmers
can use predefined functions to make the programs talk to
one another rather than having to write them from scratch.

Options:

1. v application programming interface
2. » computer to computer interface

3. » programmer to computer interface
4. = application computer interface

Question Number : 159 Question Id : 54592745005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I TAHE, Sl HEYET Utelehelel i 3ed FFYST Tltolehlel
g 3IET 99k H T&H Sl g, Faelldl &l &
el AT T T 590 ™ & Fifer WA F- Tahed TR
g TolEel & ol I, 9d [aTRa Berrel ST 3YAET
MIATAT I TWEI TYeh T Tohod o

1. v UTCelehelel WA Sclthd

2. ® HhEYIT ¢ HFYT FIhHA




3. » WRIAY T FFYeT Fethd
4. = UITHAhe FFYT FeThd

Question Number : 160 Question 1d : 54592745006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush WehY Rl SL<hIE BIAT & ST &g TheX o8 & OO
3T FATEHIA T 3TN Flh 3UAFAT IRT Tohat TRAT ST
hdT &1 IS Tohel hlel H Teh dgUal, JISAT, AT I T T
TeTH TINIaE] Tl Thall g

Options:

1. v FgAT NS

2. % hEYIT VA IS
3. * FFYT TN HIS
4.

x FYUH FI8

Question Number : 160 Question Id : 54592745006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a type of barcode that can be scanned by a user
with a code scanner such as an app and a smartphone.
Scanning a code can bring up a webpage, a video or any other
web enabled content.

Options:

1. v QR code

2. = Computer access code
3. = Computer bar code

4. = ()S code
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Question Number : 161 Question Id : 54592745007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A method being used in advertising research whereby the eye
movement of subjects is recorded in order to determine
which parts of the brain are activated while viewing an ad or
commercial is known as

Options:

1. = eye analysis

2. v eye tracking
3. » eye watching
4. = eye catching

Question Number : 161 Question Id : 54592745007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feraATasT eTaeTer # YIS T e arelr vk fafer forad feel
AT IT FTATTST T T & STl STod hT 3TET T
Afcreierdr Reps F¥eh I8 Udar ToaT S1ar & o6 AfSass & sid

& AT §fhT & FEalldl &

Options:

1. = 3§ TaATlel

2. v TS ¢fepar
3. = 372 qifder
4. = 315 Hi<ar

Question Number : 162 Question Id : 54592745008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A feeling of unease or discomfort arising from our
expectations failing to be met or where there is discrepancy
between principles and behaviour is known as

Options:

1. = expectation failure

2. % cognitive resonance
3. # principle-behaviour gap
4. v cognitive dissonance

Question Number : 162 Question 1d : 54592745008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AN Y& QW o g, a1 Gl 3R sFagr & &= fogeria
gl U 3cTed @ﬁmﬁmﬁmmagﬁmﬁr
AeTHT FEAT &l

s TN
Options:

1. = gcgrem [awerar

2. % SITcHS 3T,



3. » WGT-sgge’ 3T
4. v NATcHAS G

Question Number : 163 Question 1d : 54592745009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Research into media effects/influence over an extended period
of time, as contrasted with hierarchy studies that measure
response at a specific period of time is known as

Options:

1. v longitudinal studies

2. = hierarchical studies
3. = effects studies
4. = responsive studies

Question Number : 163 Question Id : 54592745009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

veh fAfdse @a s@far A afafear Atos arel gemesha sreaet
& AT v [OEgd gAY T AfSAT IROTANTATET T

eI FEATT &

Options:

1. v dRETCgSee Tsret
2. % BIRITTehehol TE3To
3. » Sheeq TEarel
4, « EUTET IS

Question Number : 164 Question 1d : 54592745010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




The features trimmed simpler elements with less
fuss over the details. There is an economy of both design and
treatment and audio-visual rules along with the rules of the
story are less rigidly followed. The elements of this plot can
include internal or personal progression, an open ending and
multiple protagonists.

Options:

1. = slim plot

2. v mini plot
3. » economy plot
4, = progression plot

Question Number : 164 Question Id : 54592745010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H 3798TThc A 3EISC TIaTull & I 3UETThd
Tl dcd 8ld g1 Bosa 3T SicHAe T U ShIAT &dl &
R SATSA-Taspare @d TuT TeRT & &FAT T FA &1 4
qrele TohaT SATT &1 36 Tolic o dedl (VTeldAcH) H M T
fASil woteet, Ueh Foll FATYS AT 3/ gAdF gl ¢l

Options:

1. » oA Telic
2. v THAT velle
3. % ZRIAIAT Tollc
4. = GI3eld Tollc

Question Number : 165 Question Id : 54592745011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The reverses everything classical and contradicts
most of the traditional elements of story and structure. The
idea is to ridicule the very idea of formal principles. These
kind of films tend to be ambitious, revolutionary and even
extravagant. Their elements often include coincidence,
nonlinear time and inconsistent realities.

Options:

1. = non-linear plot

2. = revolutionary plot
3. v anti-plot

4, = extravagant plot

Question Number : 165 Question Id : 54592745011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TERT 3T e & Ucdsh IR ded ol
3chiAT FAT & 3T 3TIRTer IRURF deal & Jwdia aar &
o el & Aol 9= 7 398 36T 9N &1 39
TR hT Thed d-lftrrdlchit’fh', mﬁw, 3R ?J%T de o
JfcerafeFaqeT T gidr &1 $ots deal H Ui FgaEaAer, 3ES
TAY AT 39T aEdahdlv TFATod ald &1

Options:

1. = Sld-ollfaAIT Telle
2. » Raregereil wdlic
3. v TI-tdlic
4,

x TFEeldeie Tollc

Question Number : 166 Question 1d : 54592745012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A backs up a first-person narrative, where
the person whose point of view is currently being represented
visually and story-wise is the narrator. This narrator talks in
terms of ‘T’ and brings his limited point of view across to the
audience via the spoken word. This narrator is a character in
the film and he may or may not be shown visually at the time
his voice 1s heard.

Options:

1. = point of view narration

2. v first-person narration
3. = visual narration
4. = limited POV narration

Question Number : 166 Question Id : 54592745012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR 3cdd 9&Y guie gidr g, foaA ag
Al Toldeh TISChITT T TadHTT A 72T 3N FUTThRdR
for®aor foram ST @1 BT § 98 gEUR &dr &1 98 §EuN H F
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T Bl & 3 3T AT ol STl & SNTel 98 ZRATcHS &1
T 2@T AT FAGT ST ST bl &

1p.wmﬁzmqa@m
2. v |EC-UHe el

3. = faspater e

4. = TfACs dT3MdT aiereT

Question Number : 167 Question 1d : 54592745013 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

A is a conceptual map for any shooting journey. It
consolidates research and outlines the film’s story, providing
a visual guideline for the shoot. It uses the same format and
elements as a post-shoot script and can be as comprehensive
or generic depending on the information available to the
scriptwriter at that stage.

Options:

1. v shooting script

2. = sCreenplay
3. = director’s script
4. = production script

Question Number : 167 Question Id : 54592745013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Th fordlT effdar A & fov e
HTYROMcAS AT BT &1 TR 3Heqadld, I Thed H1
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Options:

1. v Qrﬁ'clT Rewce

2. % TshleTCol

3. » SRRFH &hte
4,

« TEFele Shce

Question Number : 168 Question Id : 54592745014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ownership of several media outlets such as press, radio,
television, etc., by one company is known as

Options:

1. = vertical ownership

2. = multi-media ownership
3. v cross-media ownership
4. = group ownership

Question Number : 168 Question 1d : 54592745014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh hUall GaNT Halsh HITSAT H3Telcd oid o o, IS,
cNfaeter anfe 1 FaTfiied FERTT &

Options:

1. » afcher 3eRTAT

2. % Hecl-AITSAT 3MeR ey
3. v HIE-AISAT AeRET
4. « 9 3R

Question Number : 169 Question Id : 54592745015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The role of a newspaper is mostly managerial,
meaning their main focus is making sure the style and
content of the publication is correct. They're responsible for
the overall direction of the newspaper. They also tend to the
day-to-day operations of the business.

Options:

1. = chief design artist

2. = printer
3. = chief fiscal officer
4. v publisher



Question Number : 169 Question 1d : 54592745015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JHARRYT & T AT YT VYT BT g,
foraehT 31 & ToF a8 AT &7 & ThRIA T el 3R favgasd]
T TET BlelT FlARTT Flal W Higd 89T &1 I FATAGST *
AT foAdere g Scaierl 8Id &1 3 SIadd & Sfde hiARTS

AT @ E

1. = Im BEa anfeee
2. = WX

3. = Ik ThEhel 3TTHET
4. v UlsereX

Question Number : 170 Question 1d : 54592745016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

refers to a media company having a presence across
different media segments such as print, television, radio etc. It
generates more money and makes the company more popular
among readers/viewers.

Options:

1. = Online integration

2. v Horizontal integration
3. = Inward integration

4. = Qutward integration

Question Number : 170 Question Id : 54592745016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T 3¢ fordT FifEar et @ § S Bffes Afz
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Options:
1p. x 3TeTolSal STcarerd
2. v BINoled sfearerd
3. = Sogrs STedere

4, = H3EATs STearereT

Question Number : 171 Question Id : 54592745017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

refers to a media company that owns different
businesses in the same chain of production and distribution.

Options:

1. = Supply chain integration
2. = Production integration
3. » Distribution integration
4. v Vertical integration

Question Number : 171 Question Id : 54592745017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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|

Options:

1. = Gralls el Sicarerd
2. % YSFerd STealers




3. = TSREgsygerer gfearer
4, v gfcHker sfedterd

Question Number : 172 Question 1d : 54592745018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The type of research that focuses on consumer and lifestyle
information is known as . This method is applied
to the study of personality, values, opinions, attitudes,
interests and lifestyles.

Options:

1. = demographics

2. v psychographics
3. = consumer analysis
4. = lifestyle analysis

Question Number : 172 Question 1d : 54592745018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question Id : 54592745019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




A market structure in which a product has only one seller
having the exclusive possession of the supply is known as

Options:

1. = oligopoly

2. v monopoly

3. » one market, one society
4. = unobtrusive access

Question Number : 173 Question Id : 54592745019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

VAT ST9TR &N, S9H Uk 3cUTE T hdol Teh [dohdT &IdT &
foraes ara syl &1 faRwifdsr grar g, hEelldl &

Options:

1. = 3feENTelr

2. v Hgell

3. % To HThe, ToT ANETSAr
4. = 3el3ifegiotd Ve

Question Number : 174 Question 1d : 54592745020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Reporting style in which news stories are structured and
presented starting with the most important items and ending
with a short background piece Is known as

Options:

1. v inverted pyramid style

2. = summary style of reporting
3. = non-linear style of reporting
4. = ]inear style of reporting

Question Number : 174 Question Id : 54592745020 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v 3cdcs AT B

2. » AT Tesd 31w ROféar

3. = Aled-oldy TaBeT AHTH NAAifear
4. = oNfeY TCTSel 3 RAar

Question Number : 175 Question Id : 54592745021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a type of journalism that attempts to make news
reporting a scientific enterprise with rigorous methods such
as surveys and questionnaires.

Options:

1. = Scientific journalism

2. = Methodical journalism
3. v Precision journalism
4. = Enterprising journalism

Question Number : 175 Question Id : 54592745021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:




3. v WMAsTd AaToloH

h [ Lol
4. = TS STl SlallelcH

Question Number : 176 Question 1d : 54592745022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A small format newspaper that is roughly half the size of a
standard newspaper usually containing sensational coverage
of crime, scandal, gossip, violence or news about celebrities is
known as

Options:

1. = wall paper
2. v tabloid
3. » small-size newspaper

4. = spreadsheet

Question Number : 176 Question 1d : 54592745022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = gl 9UT
2. v cHIgg
3. * THATI-HE #oUH

4. = sl

Question Number : 177 Question Id : 54592745023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




1s a method of printing, used to achieve a relief
image raised printed surface.

Options:

1. v Embossing

2. = Raised image printing
3. # Intaglio printing
4. = Gravure printing

Question Number : 177 Question 1d : 54592745023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v TEIEar

2. % I8 SHT TOfear
3. = SePor3i MWfdar
4. = Fav Tofear

Question Number : 178 Question Id : 54592745024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The space between lines of type often measured from the
bhaseline of one line to the baseline of the next is popularly
known as

Options:

1. = spacing

2. v leading
3. = inter-line demarcation
4, = distantiating

Question Number : 178 Question Id : 54592745024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = FOfger

2. v ollfgar

3. % SaT-olSal BHATRT
4. = TeEdieufear

Question Number : 179 Question 1d : 54592745025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to Rogers, “Development is a widely participatory
process of social change in a society intended to bring about
social and material advancement, including greater equality,
freedom and other valued qualities for the majority of the
people through their gaining greater control over their

b

Options:

1. v environment
2. » fate

3. = tradition

4. » future

Question Number : 179 Question Id : 54592745025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v 9ITGIoT
2. = feafa
3. = LU
4, = AAST

Question Number : 180 Question Id : 54592745026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Journalism which emerged in Asia in the aftermath of the
Pacific war and colonialism was aimed at improving the
social, economic and political conditions of the

Options:

1. = rich and wealthy

2. » middle class

3. * women and children
4. v poor people

Question Number : 180 Question Id : 54592745026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question Id : 54592745027 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Stereotypes and sexist representation affect

citizens and violate their human rights.

Options:

1. = men
2. % children

dsS



3. # transgender
4. v women

Question Number : 181 Question Id : 54592745027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question 1d : 54592745028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given that the vast majority of information received by us is
stored in our subconscious without first being consciously
filtered or analysed, it is inevitable that our judgment,
attitudes and behaviour are very often influenced by

of which we are unaware.

Options:

1. v stereotypes and prejudices

2. = fake messages

3. » corporate cultured images

4. » unbilased articulation of ideas

Question Number : 182 Question Id : 54592745028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 54592745029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A news website will be easy to if the structure is
clear and logical and if we provide links that mirror the paths
readers would like to take, to get from one piece of
information to the next.

Options:

1. v navigate

2. % read
3. = listen
4. = watch

Question Number : 183 Question Id : 54592745029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v sfddlc Flal
2.
3. % Hafal
4.

Question Number : 184 Question Id : 54592745030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the simplest form of multimedia journalism wherein
a text report will appear as a screen on the website with a
link to a video or audio clip.

Options:

1. = Video-log
2. * News-log
3. v Text-plus
4. = Video-plus

Question Number : 184 Question 1d : 54592745030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = gIfEAr-oliar
2. » FATAL-olaT

3. v ¢FEC-Told

4. = FIEA-Torg

Question Number : 185 Question Id : 54592745031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The web is a news medium without deadlines or edition
times, where most things can be published more or less

. Most newspapers and magazines have a web-first
policy whereby much material is first published online.

Options:

1. = daily

2. = hourly
3. v instantly
4, = weekly

Question Number : 185 Question Id : 54592745031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = &foteh
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Question Number : 186 Question Id : 54592745032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a social bookmarking service that allows you to
tag, save, manage and share web pages all in one place. With
emphasis on the power of the community, it greatly improves
how people discover, remember and share on the internet.

Options:

1. = Twitter




2. # Instagram
3. v Delicious
4. = Facebook

Question Number : 186 Question Id : 54592745032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk TIRTST GehATIchal HAT & ST 3T Teh &I FATel
A9 Uel &I KT, HEeld, VST 3 ATHT Fle hr g
gl &1 FEIMET (FHa) HT AfFd W ST T g9, Ig o
ZaNT $clae T TSl e, ITg {Wet, 3T ATST Flal & LRI
H ST U FIdT £

Options:

1. = feuaex
2. = STETATH
3. v 2o
4. = BOTH

Question Number : 187 Question Id : 54592745033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Development journalists write about people as subjects,
actors and agents rather than as objects or victims with

Options:

1. = desire deficits

2. » monetary deficits
3. v need deficits
4, = dream deficits

Question Number : 187 Question Id : 54592745033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g eI, ae & I A o T 3iTesisre 3T2ET
ey & T Oval, FRISART AT veel & &7 # forEmd 8

1. = 3TSRIETTT FT 3THTT
. % HAifger 3T

2
3. ¢ JaeARdl kT ITHID
4

« 9T FT 3T

Question Number : 188 Question Id : 54592745034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Modernisation Paradigm which originated from the
works of earlier scholars namely, Daniel Lerner, Everett
Rogers and Wilbur Schramm argued that poor nations could
be developed by persuading individual citizens to adopt
presumably more efficient traditions and values.

Options:

1. = eastern
2. v western
3. = southern
4. = northern

Question Number : 188 Question Id : 54592745034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y fehTRI0T ITATe, ST Yadcil 7eIAT3T Sfdel oy, Tale
flx_rlﬁaﬂ'\rmmm Tohd aﬁ‘rﬁa’rﬁmgm% HT doh &
foF qoATeT ¥ & 3779+ q&H Wﬁﬁ?ﬂﬁaﬁ
3TeTTel @] ShTerciaTd aﬁfﬁﬂﬁaﬁﬁﬁﬁmﬁ?ﬁrﬁﬁm,
IEEANGIIRE Y

Options:
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Question Number : 189 Question 1d : 54592745035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Development communication has been generally referred to
as the application of communication strategies and principles
in pursuit of

Options:

1. v development

2. = change
3. = growth
4. = modernisation

Question Number : 189 Question Id : 54592745035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey @9R, AT FT fgom & O
ToTeifaal 3 [ardl & 3ie[uaer & §9 A Ferdd fohar ST g

1. v Tahm g

4. % T eTehTeRI0]

s

Question Number : 190 Question Id : 54592745036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The success of UNESCO-sponsored projects such as Radio
Rural Forums in , Ghana and Costa Rica accelerated
the growth and popularity of development journalism.

Options:

1. x USA
2. v India

3. = Germany
4. = Sri Lanka

Question Number : 190 Question Id : 54592745036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

, Tl 3 hEeT RepT # gaeeh-uraiieid
qREASTATHT o8 ToF I ol BRA T Oheldl o &
THRTRCT T Glg 3 SR O=IdT e H FAeg il

Options:

1. = 3TANGRT
2. v IRd
3. = STHaT
4, % HeTehT

Question Number : 191 Question Id : 54592745037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Scholars Domatob and Hall contend that development
journalism had been mainly used by most African leaders to
consolidate and perpetuate

Options:

1. = development

2. v power
3. ® poverty



4. » empowerment

Question Number : 191 Question Id : 54592745037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

EAATHT AR 3T glel h7 ulaarg & for [Sra aaehTian
HEU: 3TTYRIRT ITHIRT AdT3T @] I HATRT
Fa AT T @S F T 33U FHT FAET T AT

Options:

1. » @RI
2. v "cdl
3. = Tordear

4. » ToATFIRIT]

Question Number : 192 Question Id : 54592745038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to Siebert et al., under the authoritarian
philosophy, the media is supposed to support and advance the
state’s policies and objectives. Consequently, the ‘government
say-so journalism’ served the leaders’ political interests more
than the needs of the :

Options:

1. = business people

2. v ordinary people

3. = educated class

4. = government servants

Question Number : 192 Question Id : 54592745038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HIEEE Ue 3ol F 3MdN UIAhRamr gedfe & aiceta Afzar @
TS T ATl 3T 38220l T AT e A derar o
3G Rl ST g1 TRUMHATTET, TR sl AT hlal
gTell USRI hT STELAT =Rl 3TUETT AdT3 & TsTelicdeh
f&at shr 31fass gfich s 8

Options:

1. » TIGAM™T STeFd
2. v gIATT =Jied

3. » faIf&ra et

Y

4. = FLHNET g

Question Number : 193 Question 1d : 54592745039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

refers to the practice of paying money to get an
exclusive story that will purportedly sell many copies of a
newspaper or magazine and/or bring prestige upon the
journalist.

Options:

1. v Chequebook journalism

2. » Promotional journalism
3. # Circulation enhancement journalism
4. = Magazine journalism

Question Number : 193 Question 1d : 54592745039 Question Type: MCQ Option Shuffling: Yes

T Y g TehaFe[[Td FERT TTCT Flal F
forT ooy &7 aeTdel el & Ik @ &, S FoRdy TARRTE
372UAT 9THAeRT hT FTAT hT [SehT d@lel 3R/372@T 99k FT
TdSaT deTal el ATl ST &l




Options:
=

1. v dhgh SeifelsA

2. = WA SlelfoloH

3. = Hﬂ«_o??l?r UeadHC Sleilolod
4. » HISATT SaloloH

Question Number : 194 Question Id : 54592745040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Layout of a newspaper page showing where advertising
materials are to be placed is known as

Options:

1. = layout

2. v dummy
3. = advertisers guideline
4. = placement manual

Question Number : 194 Question Id : 54592745040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAIRYT & TG 1 of373¢ &if g Giam § o oA araa
gl e g, HEATT &l

Options:

1. = oI33C
2. v SHAT
3. » UsdcISoid JNMSSalsd

4.&%#:’4@31?

Question Number : 195 Question Id : 54592745041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




The box in the top corner of the front page of a newspaper
used for advertising or weather information is known as

Options:

1. = nose panel
2. * mouth panel
3. v ear panel

4. = masthead

Question Number : 195 Question Id : 54592745041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordl TARINYT & HAET 56 & FUT Hldd H S, Toraah
3T AT 372aT AH FT ATTRRT g & v forar Smar

g, 98 FETAT &

Options:

IECICRGE]
2. » A3 YaTer
3. v 3T Uaa
4. = ATECES

Question Number : 196 Question Id : 54592745042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

News reporting that explains events in the light of broader
social or philosophical issues is called

Options:

1. = soclial journalism

2. = philosophical journalism
3. v Interpretative journalism
4. = Investigative journalism



Question Number : 196 Question Id : 54592745042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

hTqsh WA 3T aRifeish Hegl & TRNeT H Teasf H
SITEAT el aTell AR RO, EREICINY

Options:

1. = YT ST ToloH

Question Number : 197 Question 1d : 54592745043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AfAn 1s a single ‘take’ on an image. It starts and
finishes at a ‘cut-point’ which is an editing break in the image.
It is not defined by any particular image, action or event that
takes place on screen.

Options:

1. = film

2. = action
3. v shot

4. = episode

Question Number : 197 Question 1d : 54592745043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh Teh SHSl hl el '¢h' BIAT &1 IE 3 Flehd
'Fe-TaEe U GHATCT &IdT § Sif SAST #H uisfedr s aar &l
JE ThiaT W &la dTel TohAT 99y =T, T 37949 g9car @
fraifa =16 &iar &

Options:

1. % TheH




2. % Tl
3. v elic

4. » UiUEs

Question Number : 198 Question Id : 54592745044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A is a collection of shots put together that tell a
story continuously. It is an autonomous piece of the larger
story of the film. An entire film 1s made up of a series of these
collections which can be of varying durations and are
connected to each other in some way.

Options:

1. v sequence

2. » video compilation
3. » short film
4. = documentary

Question Number : 198 Question 1d : 54592745044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Th Ueh T AT 3T ecH T ehold BIAT & ol
Ueh 3elalc Fglal S &1 Ig TWhed T 3TUETTHd 957 TERT
T Teh TIT TS Il &1 [T Thed o Heheloll HI Tl W
fAfAaT aXar & S 3Teer-37eeT AT arer &r Tohd & T Teh-
qEY & Tl ATl Fefead g 2l

1. v diag

2. = JIBAT FeaTSelerd
3. = oM¢ Thed




4. = Sty

e

Question Number : 199 Question Id : 54592745045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Narration is the sound-track commentary that sometimes
accompanies a visual image in a documentary. It’s also often
called a and it can be spoken by one or more off-
screen commentators. This narration has always been a very
popular tool in documentaries because it is an easy and
effective way to communicate verbal information in the
absence of dialogue between actors.

Options:

1. = running commentary

2. v voice-over
3. » dubbing
4. = informal commentary

Question Number : 199 Question Id : 54592745045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RTeT, WI3B-¢eh FAAT &, Tordah qrer wefr-hell sTargadr # v
faS[atel 3AST gIdl 1 38 9T AT aT AT § 3N
g TF AT 3fAF HF-TRIT FAeed ZarT el ST Tehall B
g e, STFGHCIS A T 3cTed hIT ol I@T & Fllh
T hellhRT & S Hare HT aeafa 7 #AlREw SrerhiT
AT el ol Tk T 3T gET T g

Options:

1. = Ifeler AT
2. v qaa-3ay
3. = gfgar




4. » SABIAST FHT

Question Number : 200 Question Id : 54592745046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A is something held in common by two sequences or
counters pointed between them. It helps to have a seamless
progression between sequences for the entire thing to work.

Options:

1. = sequence ordering

2. = progression ordering
3. v transition
4. % transfer of time series

Question Number : 200 Question 1d : 54592745046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk gl g H FIAT IT 3eTh a1 FI3eL TS
BT &1 I §FQUT R & v deradst & dra ey WA A
FASE hidT gl

1. % Gread 3TSRaEr

2. = GErereT 3MSREr

3. v aIforere

4. = TERT 36 TBd AR



